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Question Number : 1 Question Id : 630680200251 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct about the 80th Golden Globe Awards Ceremony held in January 2023?
A. The event was held at Paris in France.

B. The song 'Naatu Naatu' from the Indian film 'RRR' was named the Best Original Song in Motion Picture.

C. 'House of the Dragon' won the best TV Series drama.

2305658 202365 2388 8065 FBS {25 e9ade BeEE0 H00E0D &3 180& 1DEEISS” A/ HBI?
A. PSSR TS’ &8 528551800 38008.

B. 27305 D50 RRR' tHOID(H0E Q) 'EN e’ aFed €55e% €90 FET DODTOE.

C.' TR0 69 & |ITHS &5 €30 1BV (S AOV0H.

Options :

1. % Only A

1/81



4/4/23, 4:04 PM

A (533
2. % Both A and B

A B8O B BO&y
3. % Both Band C

B <0805 C Bo&ky
4. % Only C

C S(eda

Question Number : 2 Question Id : 630680200252 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In January 2023, scientists at NASA (National Aeronautics and Space Administration) announced the discovery of a planet
named , slightly smaller in size than the earth, orbiting within the habitable zone of its star.

2305658 202365, NASA (SASS T35 @08 ) 9@ RAS) (IS3Ben e S fed (553°)),
EOFSLEW (05300, B 25 Z0T FOTO DA, T SE (50 TINEY AarITIFHS S¢S’ 88 565
MISIEATANIN Moo )

Options :

1. % TOI 700 d

TOI 700 d
2. % TOI700 e

TOI 700 e
3. % TOI701b

TOI 701 b
4. % TOL701 e

TOI 701 e

Question Number : 3 Question Id : 630680200253 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Benjamin Netanyahu was sworn-in as Prime Minister of Israel for the time in December 2022.

BOBNS JSrssTv, G005 20226 0 RO (DTTINO0(BT (D37 D 580 TFE.
Options :
1. % sixth

[ETOIN
2. % fifth

508969

3. % seventh

BTN
4. ® fourth
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°D

Question Number : 4 Question Id : 630680200254 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following teams was grouped under ‘Pool B’ at the FIH Hockey Men’s World Cup 2023 held in Odisha in
January 20237

2385558 20236 2,37’ 2380 FIH 58 50000 (D05 E5 202365 &3 (808 ¢3S & 23p S-S B' (805
S58880TSy?

Options :

1. ® Netherlands

SAT0&)
2. ¥ Germany

2352
3. ® Chile

A1)

4. % New Zealand

QAQrs3eros

Question Number : 5 Question Id : 630680200255 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Match List I and List II related to days observed by United Nations mn 2022 and 2023.

ListI List IT
a) International Day of Clean Air 1) 15 Nov 2022
b) World Braille Day 1) 1 Dec 2022
¢) World AIDS day 11) 4 Jan 2023
d) Day of 8 Billion 1v) 7 Sep 2022

2022 20000 202365 DE5TPRRada DD JPBodd B ©oe0dedd ardoe | ooy

D [ 30 “n)ﬁff]"vaod.

e | ardeE |l

a) ©08T°HOL DYINOND T BTdydo | i) 15 dadoed 2022

b) D0 Bond dFeDo i) 1 @06 2022

€) DN Jowéy OIS ydo iii) 4 2500 2023

d) 8 DO Fe iv) 7 2305 2022
Options :

1. % a-ii, b-iv, c-1, d-iii
a-ii, b-iv, c-1i, d-iii
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2. ® a-iii, b-iv, c-1, d-ii
a-iii, b-iv, c-1i, d-ii
3. ¥ a-iv, b-iii, c-ii, d-i
a-iv, b-iii, c-ii, d-i

4. % aii, b-iii, c-iv, d-i

a-ii, b-iii, c-1v, d-i

Question Number : 6 Question Id : 630680200256 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The National Health Authority (NHA) organised its first hackathon under the Ayushman Bharat Digital Mission Hackathon
Series in , in July 2022.

STAXSS oS e05r6¢3 (NHA) 2578 202265 S’ SABNIS 23S GBRES WIS TS DEV 8ocs
RN WATARPOI AN o [t e Aol )

Options :

1. ¥ Pune

I
2. ® Bengaluru

Eafelel>Vide N
3. ¥ Hyderabad

PO A AR
4. ® Jamshedpur

EJOFMNAURTS

Question Number : 7 Question Id : 630680200257 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The ICMR-NARFBR (National Animal Resource Facility for Biomedical Research) in Hyderabad was inaugurated by
, on 17 December 2022.

20 0°erEES ) ICMR-NARFBR (23S OS50S 8F8 ) DO 58 233r0GES 85 17 1025
20228 S0DOT.

Options :

1. ¢ Union Minister of Health and Family Welfare, Mansukh Mandaviya

0[S e85 OO BN DOTFEFD 0O0|E3, 0 DID S0

2. % Union Minister of Agriculture & Farmers Welfare, Narendra Singh Tomar

B0 S53°0%, Bedd DO S00(& STO(ES ON S60d

3. ® Prime Minister, Narendra Modi

10°300(8d, STOo( &

4. ® President, Droupadi Murmu
O Qe (T 30802
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Question Number : 8 Question Id : 630680200258 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In December 2022, Indian Minister of Electronics and Information Technology Ashwini Vaishnaw launched the
campaign as part of India’s G20 presidency with an aim to raise awareness about the importance of online safety.

&025 202265, 275 DO TE.) 0B RGBS Bse) 028 00( 9725 IR SSSS 25(¢5¢h TBwEy,
(5055 HOOD) XTI DO ©F S0 23SST3F0 TBEY G20 (DB’ axtiore DT

PS0DOT.
Options :
1. ¥ Stay Secure Online

D 850 TS
2. % Be Alert Online

O @O 8IS
3. % Stay Safe Online

VD 8IS
4. % Be Vigilant Online

D XSO 8IS

Question Number : 9 Question Id : 630680200259 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In January 2023, the Industries Department of the government launched a facility for entrepreneurs to submit their
complaints or seek redressals using the WhatsApp platform.

2385658 202365, 19925965 205 DBFDE D2THO 55T DHN 63 DT*SENOD HNEI0TITIE
B DO T FHFIETAE 8 ¢ )2 TG0 SOTZPROT APETA)), (D B0D0DOA.
Options :

1. # Telangana

SOOMTED
2. # Chandigarh

S05NE
3. % Delhi

&9

4. ¥ Kerala

38¢

Question Number : 10 Question Id : 630680200260 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
‘DigiYatra’ service was launched for three airports in India on 1 December 2022. Which of the following is NOT one of
them?

1 &R0235 20223, 05°¢8 DOND e TBE <Be8AST(h” OB £ 3D B0TS. e3¢ 2,83 A DE?
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Options :
1. ® New Delhi

Srs&O
2. % Mumbai

Q00

3. ®¥ Varanasi

EETR
4. % Bengaluru

23000°%

Question Number : 11 Question Id : 630680200261 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about the ‘Amantran’ portal launched by Rajnath Singh in January 2023 is INCORRECT?

23358 202365° T°eS 6 DOR [FPBE0DODS ‘e300(5S” IS HOOD &3 (80O T3S’ & (HEEIS 5))?
Options :

1. % It will be used to extend e-invitations to dignitaries/guests and for the online sale of tickets to the general public for
witnessing Republic Day and Independence Day events.

R (DX3VPIOE/9EEOEL R-e35 §°) O0ROTITE 0B HEIHBO(h BS )30 0B
D 5HOBBS ASH)ed SPEFERTORD T RVOCNE PGS (D238 ¢33 esSBS JEaHo §0o
5o0030°R0TIC0A.

2. # Tt contains QR code-based authentication for enhanced security.

2O RS 25155 50 QR §& 3570 ¢h (DXTedESeacd 08 &0d.
3. ® Passes/tickets will be delivered digitally through emails/sms.

FR/E3TED BONS/sms ST Be3EIST DO TWANETOW.

4. ¥ The passes/tickets can be easily cancelled/transferred.

FREN/EITE D NSO SO TANSTNY2EO TR,

Question Number : 12 Question Id : 630680200262 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The earliest satellite images that revealed land subsidence affecting the town of Joshimath in Uttarakhand, released by the
National Remote Sensing Centre (NRSC)-ISRO in January 2023, were taken by the satellite.

2385558 202365 FASS BRTES I0A V0 (NRSC)-ISRO DS TS &S 0&H eSS’ SPacsd
JLET) 102TVH0 T2 257N §.695) BDAODD SO SIHHT A& &HHF0 5o
SANDTOW.

Options :

1. % INSAT-3DR

Q0°)¢3-3DR (INSAT-3DR)
2. ¥ QceanSat-3

200 F°E-3 (OceanSat-3)
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3. % Cartosat-2S

?@8%‘65-2035\) (Cartosat-2S)
4. ® EOS-06

EOS-06

Question Number : 13 Question Id : 630680200263 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following statements related to the centrally sponsored scheme - PM SHRI Schools (PM Schools for Rising
India) is/are correct?

1. The PM has announced the upgradation of 14,500 schools across the country under the Pradhan Mantri Schools For Rising
India (PM-SHRI) Yojana in 2022.

2. These schools will become model schools which will encapsulate the full spirit of the National Education Policy.

3. The focus will also be on modern infrastructure including the latest technology, smart classrooms and sports.

4. The PM-SHRI programme was announced on 26 January 2022.

B0 | TBErR5 HESEO - PM SHRI 3573,5) (PM 53,5 ) HB 32808 ROAOST)8 H0220H0DS (808 (HELSS
DA SBIE?

1. 202265 (DTS 00(8 7S ) HE B220h ROAAST (PM-SHRI) G323 (80¢ B350 14,500 S
DN TWSYEW PM (D830,

2. & PEFTOEN 20N DTS VTS0 TINEY F°8 )8 FPOCRIBT BrchS FEF LN TG oN.

3. @RS POTRES, 720 HBH B0 DO (BSOS D5 e3¢0AE STOE DRI AFO D S
Soa 30(QEB0TIDRIS0H.

4. PM-SHRI S°G$(3600 26 2303098 202285 (98¢30050808.

Options :

1. % Only 1,2 and 4

1,2 00050 4 S7°(H o
2. % Only 1, 3 and 4

1,3 308050 4 (b ad
3. Only 1,2 and 3

1,2 0005 3 S33°(ed 3
4. % Both?2and 4

2 0BA8W 4 BOY

Question Number : 14 Question Id : 630680200264 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
By August 2022, the One Nation One Ration Card (ONORC) Scheme had been implemented all over India, with
being the last state to join the initiative in June 2022.

& 2022 5°¢38, 5 JAR IS BAS 5°0 (ONORC) DHZ0 238 S$TTF0 €90e5E5 €0a0e0 DOHVR0D, S
3856’ 2378 202265 TOS DSB T QO .

Options :

1. ¥ Manipur

206856
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2. % (Odisha

RIS
3. ¥ Telangana

SOOI
4. % Assam

°)0

Question Number : 15 Question Id : 630680200265 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
India’s first green hydrogen blending project is a joint effort of NTPC (National Thermal Power Corporation Limited) and

2rEST335) INQZ0EES (AS 3PE RS BoAOR (3§ NTPC (RIS 38S H38 581828 OWB&)
AWelo\ M © DOANE (DAEH) 0.

Options :

1. ¥ Gujarat Gas Limited

DRBTS MR DTG
2. ® Maharashtra Natural Gas Limited

NPT DT23 AN OBIE
3. ® Gail (India) Limited

TN (ROGAS®) OBE
4. % Bengal Gas Company Limited

ZBorrS 5 00 ONTE

Question Number : 16 Question Id : 630680200266 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Through Union Budget 2022-23, the Government of India allocated about crore to the Ministry of Health and
Family Welfare.

0[S 2BE 2022-23 & S0°, 23736 (D205 50 &8 Kg OO B0EN02) DOTFSNO(E3eh § FWEO 3D
gD TEronoDOA.

Options :

1. ¥ 262,800

362,800
2. % 374,400

%74,400
3. ¥ 386,200

%86,200
4. % 398,100

298,100
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Question Number : 17 Question Id : 630680200267 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
NISHTHA (National Initiative for School Heads' and Teachers' Holistic Advancement) 4.0 is an online teacher training
programme for

NISHTHA (S28S 2d20He3S 98 35,6 30&) ©90& 396 20O @9t S )00¢d) 4.0 9O
800 8SBS €356 [BaQ0h (.

Options :

1. % ECCA (Early Childhood Care and Education)

ECCA (D8 TS 508 36 908 Je5sEAS (35023 ereds oS E 69 D050 ESS))

M o= C

2. % classes 1t0 5

1 0 5 dSHSeN

3. % classes 6 to 8

6 DO 8 SG KN

4. ® classes 9 and 10

9 DB 10 A5SKeden

Question Number : 18 Question Id : 630680200268 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In September 2022, the Central Government set a new target of a 40% reduction in particulate matter concentration in cities
covered under the National Clean Air Programme (NCAP) by the year , updating the goal set earlier.

0208 202265, B[S (2506550 5058350 T°¢38 FASS &S JowB (PS> (NCAP) HOEES'E
3T ST’ By DT 0I5 40% SHOTOR T 575 TI®, 00T ABTIODS
O, SVEEN0H.

Options :

1. ¢ 2026

2026
2. % 2030

2030
3. % 2028

2028
4. % 2032

2032

Question Number : 19 Question Id : 630680200269 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
A private member bill to regulate the appointment of judges through the National Judicial Commission was introduced in
Rajya Sabha by , in December 2022.

TAXS 225 BAONS EDAS T°ST° T LONNTE DOIFNTR), ACHOSBOT [ 23¢5 025 DV
&025 202285 02359256 (D33 0T,
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Options :
1. # Abir Ranjan Biswas

5 023 DS
2. ¥ Bikash Ranjan Bhattacharyya

DN S0BS TS
3. ®¥ Subrata Bakshi

e 0,
4. ® Subhashish Chakraborty

B02rIR ESE

Question Number : 20 Question Id : 630680200270 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The PRASHAST Mobile App, launched by the Department of School Education & Literacy in September 2022, aims to
screen/categorise in children.

JET DSs HOAW @F T35 Derio DR0D 20226 (FE0DODS PRASHAST INBS 05D, DO’
Q HEE.0t80/50880t5¢EDH ©F SO DERZ0E.

Options :
1. ¥ mobile addiction

F0BS S§3S50
2. ¥ alcohol abuse

INVTATEV N T AV ISEVIAN
3. ¥ disability conditions

JE50 HOJBEN
4. ¥ drug abuse

Q8|05 CDBOTEN

Question Number : 21 Question Id : 630680200271 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
As per data released by the Centre for Monitoring Indian Economy (CMIE) on 1 January 2023, the rate of unemployment in
India in December 2022 was

065 HB 350800 YOBANS I5°AaN (CMIE) 1 2385358 2023 DN TS DIT® (D280, Fo0o2d

202265 2r3SHTF0S” ABE 550 B .
Options :
1. ¥ 6.45%

6.45%
2. ¥ 8.30%

8.30%
3. % 10.95%
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10.95%
4. % 12.07%

12.07%

Question Number : 22 Question Id : 630680200272 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements and identify the correct statements:

1. Neeraj Chopra becomes the first Indian to win the Diamond League.

2. Neeraj Chopra won the Zurich Diamond League Final 2022 with a best throw of 89.44 m.

3. Neeraj Chopra defeated Tokyo 2020 silver medallist Jakub Vadlejch of the Czech Republic to win the Diamond League
title.

&5 (806 (DEESE HONEFO0E SBO5 HBS (HEEISD HAOTIOA:

1. Bsvo& OF BODS DncHes 23Be3050c DS S

2. DB S 27588 Bovo& OF XS 202265° 89.44 1EdS BY (& @ S0° BOTCH.

3. Q35 S 8’5 2020 S23¢h HeHE DS 2005 TE BNDEZ TOAS 275025 SBFQ G0N Bowok OF
T3S TentHBoar) ¢.

Options :
1. % Both 1 and 2

1 08 2 Doy
2.% Both 1 and 3

1 DB 3 BO®
3. % Only 3

3 307 a0
4. % Both2and 3

2 HDBAW 3 DOy

Question Number : 23 Question Id : 630680200273 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Board of Control for Cricket in India (BCCI) introduced pay parity in the sport by announcing that India’s women
cricketers would be paid the same match fee as men for international matches. Who was the President of BCCI when this
announcement was made?

233 (8BE DOHOIHED 00CHE) (BCCI) 90HT° 0D X STSOE) QBN DeSFId S°51S 5232 e
0ere® [ETEINE0 TOTOR (e300 & sT° 5365 DXTIT Q). 199535 0. &3 1DFEIS
FeNSEN I DIV @EFEIENT a3 Hae) S0?

Options :

1. # Jay Shah

Sr
2. % Roger Binny

238 DA

3. % Sourav Ganguly
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68 otird
4. % Rajeev Shukla

or8e HS°

Question Number : 24 Question Id : 630680200274 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

What was the name of the official mascot for the National Games 2022 held in Gujarat?

HBOES BOAS 2% 18¢He0 2022 T3E), OOE D)0 S AEI?
Options :
1. ¥ Ammu

SINWY)
2. % Chhaua

(RIY
3. % Savaj

Qe
4. % Rongmon

oS

Question Number : 25 Question Id : 630680200275 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Project Vaani, to be implemented jointly by the Indian Institute of Sciences (IISc), ARTPARK (AI and Robotics Technology
Park) and , will gather speech data from across India, for the creation of an Al-based language model that can
understand diverse Indian languages and dialects.

DY, 2GS 2D DOAW IFOBOTO B0 TNEHOT AlL- 36706 27T Se0Tm e
EFOB0TIR0 N0, RORONS ASVENTSE 3D D) (11Sc), ARTPARK (Al 08050 8538 ) Tose) ered
I5)) 308050 HOCINEOTT €950 TANNNY, (B 763, 27 BHTIFO 90SEr IS T
VE8N0A.

Options :

1. ¥ Google

NS
2. % Meta

Er
3. % Oracle

20°89
4. % Adobe

&S

Question Number : 26 Question Id : 630680200276 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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[oMT or refers to the collection of medical equipment and applications that can use networking technologies to link
to healthcare information technology systems.

IoMT S RO 3O TE AITIAR B5) 028 DANOE O0o§ TAHEd8 JedH58,00
B5°) @28 NTBrA0INE FE3§ DOZTEN S0BAN @VBAISE WVEBEID DO,
Options :

1. ®¥ Information of Medical Technique

Q)TN 8D DRES B8 S
2. % Internet of Medical Things

Q08) & &3 EES HoRY
3. ¥ Impact of Medical Tech

[OIT & DAL TS
4. ® Identification of Medical Target

DBOEIDZAS S JDAES 3

Question Number : 27 Question Id : 630680200277 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In January 2023, became the first Indian state to enable digital banking in all eligible accounts.

2309658 20236, 9885 &) @) T OS GBS 2 s080R (FB0DONDS BNCHES 23Be30H T RO
QOO

Options :

1. ¥ Mabharashtra

ST Q
2. ¥ Karnataka

S{OMAN]
3. % Kerala

el

4. % Telangana

SOOMPE

Question Number : 28 Question Id : 630680200278 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct about chemicals and their popular names?
A. The chemical name of ‘Alum’ is Potassium aluminium sulphate dodecahydrate.

B. The chemical name of ‘Aspirin’ is Acetyl salicylic acid.

C. The chemical name of ‘Chalk’ is Hypochlorus acid.

BPONTEN SNOA5N F¢3 (VS WEZ 022050 80& (DSOS’ DA HBIE/ DB IN?
A. ‘SBORY TBNEY SPANS N0 FEFNCNO OTENDION0 HSB)E BT 2°(3E.

B. ‘@3)0x" B0E) SO0 TR0 BIO FPOIOT aSrd&.

C. ‘o5’ TBNE) SN N0 3FFEER AT &.

Options :
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1.+ Both A and B

A DBAN B BO®
2. % BothBandC

B 08 C Doy
3. % OnlyB

B 63375530
4. % OnlyC

C S(da

Question Number : 29 Question Id : 630680200279 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding the cervical Cancer Vaccine and identify the correct statements :

1.Cervavac is India’s first indigenously developed vaccine for the prevention of cervical cancer.

2. Cervavac was developed by the Indian Immunologicals in coordination with the Government of India’s Department of
Biotechnology (DBT).

3. India accounts for about a fifth of the global burden of cervical cancer, with 1.23 lakh cases and around 67,000 deaths per
year.

o) 52590 5808 0022080 &3 (80 (DEEINON HBBLBF0W), B (08I HEob0k:

1. DO 57E 96 BT°)30%0 525930 QerSeadd BROHOM e0DSYQ TONDES 27BHTIF) S0ED0CIES ¢35,
2. 2565 (D265 ¢ P TIS) ©28 D20 (DBT) e SON0S 23Be30D BN ere8ES ) o3 S0° S L8
©DNYE TADDROH.

3. K50°)30% 525515 T30EY (D0 23S0 1.23 ©F . TROS 2SS T350 035 TS0 08, SN
00365 30°8 67,000 S0SEETEN HOZIDRT®) OW.

Options :

1. % Both 1 and 2

1 DB 2 BOCk®
2. % Both 1 and 3

1 DB 3 BOL®
3. % Both 2 and 3

2 HBAW 3 DO
4. % Only?2

2 33753

Question Number : 30 Question Id : 630680200280 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding Autotropic organisms and identify the correct statements:

1. Carbon and energy requirements of the autotrophic organism are fulfilled by photosynthesis.

2. Photosynthesis is the process by which autotrophs take in substances from the outside and convert them into stored forms
of energy.

3. Foodg Zubstances in plants are taken in the form of oxygen and water which are converted into carbohydrates in the presence
of sunlight and chlorophyll.

4. Carbohydrates are utilised for providing energy to the plant.
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e3EES°DT 2ey@B0 H0D0HOD (80 (HDEEIIO DBEBOD), DB (DI H800bk:

1. eE(ES 0T 28D T30E) B 005w 38§ e9550Tren 88235 HOTITHEOD S0 e ow.

2. 886923095 DOTBIH(EOH T HSONO FATEN 20HES DO DETFTOD BNETR ¢3Q 38 SrdoS
Qe TR (DBA%.

3. R0EFOS” @558 DTN 63831238 HOW De3 SN0 3n&23cE0n, A DTG5S DO
J(S7ES0 D0 58 ) TRTBENT 578 YT O.

4. 308530 $89 00808 528 ) 37 FEY S DTrA0TI22BTON.

Options :

1.% Only 1,2 and 4

1,2 308050 4 S| hadd
2. % Only 1, 3 and 4

1,3 08050 4 S5°(ehadd
3. % Only 1,2 and 3

1,2 308050 3 S| ¢had
4. % Only 2,3 and 4

2,3 00050 4 S7°(H o

Question Number : 31 Question Id : 630680200281 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

A cardiac portion, a fundic region and a pyloric portion are parts of which of the following organs/body parts?

&3 1808 & ©9500e0/38E errereS S*OASTE 2350, HOASE (3050 DO BT (0SB0 arrenT
)OLION?

Options :

1. ¥ Mouth

S

2. % Stomach

I

3. ®¥ Small intestine

AN

4. % Large intestine

D8 "D

Question Number : 32 Question Id : 630680200282 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following item consists of two statements, one labelled as ‘Assertion (A)’ and the other as ‘Reason (R)’. You are to
examine these two statements carefully and select the answers to these items using the codes given below:

(A): Cuscuta (amar-bel), ticks, lice, leeches and tape-worms are called parasites.

(R): Cuscuta (amar-bel), ticks, lice, leeches and tape-worms are organisms that live on or inside a host organism and get their
food from or at the expense of its host.

&3 808 @030 BO (DEEINOX EOA 0EN0R), 2,8¢3 'ABTDED (A) DB DTEES '5° S0 (R) @
BenS TOHDRO0A. KD & BOCW (DB 2K HBIOD0D), BN AN YN FEOD &HTZrA0D &
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0FOE DTN DOTNETO:
(A): 3009 ¢ (9505-23D), W, 2, 23K BN 22T HBHE DT 28sYen e0oerS.
(R): 30025 (29:05-3S), 2200, 200, BOHEEN sHOOR 2T HBMHEN TN 9BFOH £ S SH
DSVO0T 289e0 HBAW TR VR OB Bz ¢3 PSS 37¢3 e355°0°Q) FOCNETOW.
Options :
1. % Both A and R are individually true and R is the correct explanation of A

A 08050 R BOT 20578263 OB 08350 R @93 A By DB DB
2. % Both A and R are individually true but R is NOT the correct explanation of A

A 0835 R BOKT 2,883 ¢3m OB 5°Q R OB DedBed 5°¢%0
3. #® Ais true but R is false

A OBIE 0N R OB 5260
4. ® A is false but R is true

A OB 5760 52 R OB

Question Number : 33 Question Id : 630680200283 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is correct about Angiosperms?
A- Seeds naked (not enclosed in ovary)

B- Xylem vessels usually absent

C- Bears flowers where reproductive spores (gametes) develop

%3808 ¢3S 5028 )52 © HBO0R DT 1DEEIS DE?

A- QBT T3S0 GOLTON (WOTFANOES ST RISFONCHY))

B- T°306)) PP PP OE0NT €50C8e)

C- DS $)B Darozen (FREW) ©0DX9A TOT HX IO O &oenod
Options :

1. % Only A

A (533
2. % Both A and B

A 0805 B 3oy
3.4 Only C

C S5
4. % Both B and C

B 0803 C 3ok

Question Number : 34 Question Id : 630680200284 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Detritus food chain (DFC) begins with which of the following?

B30 DE TS (DFC) & 80O 57¢3S° B |G 02560:)0E?
Options :
1. # Sunlight
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QrdssP0ed
2. % Grass

58

3. % Dead organic matter

F0DS VOIBODH Hedo (B& STS S55¢20)

4. ® Primary consumer

BSOS DITFHTS

Question Number : 35 Question Id : 630680200285 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Match List I and List II related to plants.

List I List IT

a) Stomata 1) Function to open and close stomatal pores
b) Guard Cell | 11) Cell organelles containing chlorophyl

c) 11) Biocatalyst to break down complex
Chloroplast | substance into simple

d) Enzymes | 1v) Tiny pores on leaves

D0E VD 2080000 &dEE | sndoin Fdoe 1l & R}éﬁ}‘q}od.

adar | adee I
a) Jarer ) SFaured dogroa B8 sndain Hurd PSam
b) ™G 265 i) EFDe 500 e eadamaren
c) gﬁﬁéﬂfg iii) ©odgn DT DOV DPRoSEDS IS0
d) JdoF@awen v) estoep rf).‘{)i Gogren

Options :

1. % a-iv, b-i, c-ii, d-iii

a-iv, b-i, c-ii, d-iii

2. % a-iii, b-iv, c-i, d-ii

a-iii, b-iv, c-1i, d-ii

3. % a-iv, b-iii, c-i, d-ii

a-iv, b-iii, c-1, d-ii

4. % a-ii, b-iii, c-iv, d-i

a-ii, b-iii, c-1v, d-i

Question Number : 36 Question Id : 630680200286 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Correct

Marks : 1 Wrong Marks : 0.33
Which of the following statements is INCORRECT about the Large Forest Fire Monitoring Programme launched in 2019?
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Statement A: Forest Survey of India launched the beta version of the programme on 16-01-2019 using near real-time SNPP-
VIIRS data.

Statement B: This programme is a part of the FAST 5.0 (FSI Fire Alerts System).

Statement C: FSI will track large fire events across the country and disseminate specific Large Fire alerts.

201965 [FE0DOBDAS €70 FBY 2B SPAEIBOR [SFTPS HBO0D) &3 (80D 73S O (HEEIS )T
&08?

(DB Az B OB § &8 YOROS® 16-01-20198 BOHS Tad SNPP-VIIRS BT € dAITHOD (&
FTBowE), Der IS8 (FBS0D0DOE.

15 B: &3 |0 FAST 5.0 (FSI 38 @908 2Q0)eS’ 2.8 a3i50.

1083 C: FSI T3Fa3°501T ¢ €9 535708 D000 (6378 TR0 08050 AR 08 eofly
23788 7R DR,

Options :

1. ¥ Only A

A (53
2. % Only B

B 3357530
3. % Both A and B

A DBA B BO®
4. % Both A and C

A B0 C Bodsy

Question Number : 37 Question Id : 630680200287 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

What is the name of the forest fire response and assessment system of India?

F0q DO BN ©0E DV DY &35 YOBOST B Dade3?
Options :
1. ¥ INFFRAS

INFFRAS
2. ¥ NFFRAS

NFFRAS
3. % TFFRAS

IFFRAS
4. % FFRASI

FFRASI
Question Number : 38 Question Id : 630680200288 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following cities is located in Seismic Zone IV as per the Earthquake Disaster Risk Index Report, 2019?

B350 DN 8y VOTE) ASOE, 2019 (D5°E0 &5 180 ¢35 & SHB0 D8 &S IV Hod?
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Options :
1. ® Kolkata

gS8e
2. ¢ Delhi

&9

3. ¥ Mumbai

QA0S
4. % Chennai

TS

Question Number : 39 Question Id : 630680200289 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
As per the National Disaster Management Authority Guidelines on Management of Glacial Lake Outburst Floods (GLOF)
released in October 2020, GLOF risk to the population is highest in .

@525 202065 DSBS TACHS B 59¢5205) D& ) (GLOF) & 55776030 2373 AH D) A 56
258¢3 38 )50 105780, 2577380 GLOF (D870 & QB0 €08,

Options :

1. ¥ Jammu and Kashmir and Himachal Pradesh

230300 52325 0B FAITIS (DT
2. ¥ Himachal Pradesh and Uttarakhand

FOUNVEN O PVALINVSIOWNR- I Torr-eta)
3. # Uttarakhand and Sikkim

&SHTPOE DB )0

4. % Sikkim and Jammu and Kashmir

28,0 08050 2363372 SB35 52325

Question Number : 40 Question Id : 630680200290 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The launched on 1st July 2015, was implemented to expand cultivated areas with assured irrigation, reduce
wastage of water and improve water use efficiency.

1 2378 20158 (S0 0TIRS , D (r0ErOd) AT°OS DEZT BSOS ANO0IETE, el

39T 008 S08AM eI DT DT, DEHDB TS e TWOHDROA.
Options :
1. # Pradhan Mantri Kisan Maandhan Yojana

RGPS 003 8IS 3P O TBe23d

2. ¥ Pradhan Mantri Kisan Samman Nidhi

LGS DOEY SIS DR A
3. # Pradhan Mantri Krishi Sinchayee Yojana
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OGS SDOEY EPad VDOTI AT B3P
4. ¥ Pradhan Mantri Fasal Bima Yojana

DTS 00 HIS DX TZresd

Question Number : 41 Question Id : 630680200291 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The Indian Tsunami Early Warning System uses located/installed in the deep ocean as key sensors to confirm the
triggering of a tsunami.

235305 TN SN0 TFTIIOE $9565Q), DT BN AT B0ITAE S'Bd HMS0S: &)/
DTN TONDAS O §OES DI YBENT GHTITFAROA.

Options :

1. #¥ seismic stations

2800 3olTrew

2. ¥ bottom pressure recorders

M K 2SS BB
3. ® tide gauges

PSINVWTATVATAVIPSINUS TSN

4. ¥ gubmarines

20T

Question Number : 42 Question Id : 630680200292 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Among the various spectral vegetation indices commonly derived from remote sensing data, NDVI is most widely used for
the operational assessment of drought. What is the full form of NDVI?

BIrES )ON TEr HOG B0 FPOES DD SEHEY 598, ATrDES’, EEY) TINEY ST°5IBed
0 FO0 NDVI T3°eF QQ)eHOMT e dT3A0tI23¢0e806. NDVI gy, $J°0 S0 ae3?

Options :

1. # Noticeable Difference Vegetation Index

Se3HenS AD)YBR) FRBTINAN YOTS,) (Noticeable Difference Vegetation Index)
2. ¥ Normalized Disparate Vegetation Index

58T AO)DE T3 TN ROTS)) (Normalized Disparate Vegetation Index)
3. ¥ Normalized Difference Vegetation Index

T°BBE APIVRY) 38T Q0TS ) (Normalized Difference Vegetation Index)
4. ® Noticeable Disparate Vegetation Index

Se3denS AI)TE JIBBIAS K0TS ) (Noticeable Disparate Vegetation Index)

Question Number : 43 Question Id : 630680200293 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Correct
Marks : 1 Wrong Marks : 0.33
As per satellite images released by the National Remote Sensing Centre of the Indian Space Research Organisation,
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Joshimath in Uttarakhand sank at a pace of cm in 12 days between December 2022 and January 2023.

2°3¢h @088 HOTRT® DOQ BASS BRES 1I0ON VO DR TIS &I D E@red (D530,
&00235 2022 0B BIHB 20230 NG ST POHS'D FANE 12 82S  cm e o
QVAAFONOA.

Options :

1. % 2.1

2.1
2.% 54

54
3.% 96

9.6
4. %123

12.3

Question Number : 44 Question Id : 630680200294 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following institutes coordinated the project work for the preparation of a catalogue of different building types in
various parts of India and the development of vulnerability functions for a number of different building types appearing in the
building catalogues under ‘Seismic Vulnerability Assessment of Buildings Types in India’ submitted to National Disaster
Management Authority in 2013?

2rESTFOST DV IFOTS D DN B 2557°0 DHT° TELFAM SreroSod), & HITS DA
B BrE0D NBYOE £ e0thTe (80 DR TererReS §20T DN, L5 E5°e> FH0 0B e ¢
DO ESHR TONIEAE erSSTFOS” 201365 23730 DD DG 55769 @50¢38 DB )0TIDES
FEIEPA &2 (808 T3S & HOD DS 000 TROE?

Options :

1. % IIT Bombay

IIT 2023
2. % [IT Delhi

uT &9
3. % IIT Kanpur

1T 5550
4, % TIT Hyderabad

T 20 d

Question Number : 45 Question Id : 630680200295 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following ministries constituted a Technical Advisory Committee (TAC) for Landslide Mitigation and
Management in India on the initiative of NDMA and as per recommendations of NDMA Guidelines on Management of
Landslide and Snow Avalanches (2009)?

NDMA 1386520 s08A5W @& & D8O 00D ardareeed A L7693 NDMA S5e@c8.5°0) a0 3
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(05°B0 (2009), 2rBSHTFOS” er50H VE WEINAS ©0& eF 0ES §H0 &8 (80B O o § T
D0TRE HOT ENeES (TAC)D DT=)e0 TR0E?

Options :
1. # Ministry of Home affairs

TPO 095363807 sDO(e365 § F°R
2. ¥ Ministry of Mines

0@ 00(e365 § T
3. ® Ministry of Housing and Urban Affairs

199)e3® Q0B DEED 553TFT° O( €365 § T
4. ¥ Ministry of Earth Sciences

255° DL DO(e365 § T

Question Number : 46 Question Id : 630680200296 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following scale was approved in 1964 by UNESCO as the international standard in seismology?

2028 (BPE0D F0)S’ e90HT AN (DSTEIOM CNTAY 196465 & 180A 3°¢3S° & VS
S3"0WOE?

Options :

1. ¥ MSK-64

MSK-64
2. % MKS-64

MKS-64
3. ¥ KMS-64

KMS-64
4. ¥ KSM-64

KSM-64

Question Number : 47 Question Id : 630680200297 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
According to ‘Remote Sensing Applications' for Flood Disaster Management published by the National Remote Sensing
Centre, which of the following is the most flood prone area in India?

SEE DHBY DB 557769 TEEY, TASS BFES 1QH0A 0D (DTHOODS ‘BRTEd 10N @JBASY
0SB0, &2 (808 T3S erSSTIOS” 65506 SSHIOE HBETHS [0S0 DE?

Options :

1. ¥ Ganga-Brahmaputra basin

BOmr-(223735) (5 DOIE (050
2. % Narmada-Tapti basin

JET-5H HOTHTE (050
3. # Krishna-Kaveri basin
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EYal-5738 HBITE |r0eb0

4. % Indus basin

080 HBFIE (r0b0

Question Number : 48 Question Id : 630680200298 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
According to the Composite SDG India Index 2020-21, which of the following Union Territories (UTs) maintained its top
spot with a score of 797

08F28¢5 SDG ROACST ROTS ) 2020-21 |D5°E0, & (80 BT eh (Foween (UT)OS' D& 79 &F) 6
O, TITAOD0E?

Options :

1. ¥ Chandigarh

S0586
2. % Delhi

&9

3. ¥ Puducherry

DT HO
4. ¥ Lakshadweep

LA

Question Number : 49 Question Id : 630680200299 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
India's overall SDG score improved by 6 points in 2020-21. This positive stride towards achieving the targets was largely
driven by exemplary country-wide performance in which of the following Goals?

PG STE0 TBEY Z0B0 SDG )3 2020-2165 6 FON0LY VEHIB0E. OO FEOT OFT &

BT SN0 DEVLIT & (B0 ©F S’ B T ST° T o350 DS FSPA0TIDB0E?
Options :
1. ¥ Goal 1: No Poverty and Goal 2: Zero Hunger

8 50 1: 85 QB 0IH0 B ©F 50 2: e33O 25°¢d Qe
2. ® Goal 3: Good Health and Well-being and Goal 4: Quality Education

& 50 3: e85 SOBE £ S0BAIN 28N (DTS DO 0B ©F S0 4: DI DS
3. ¥ Goal 5: Gender Equality and Goal 10: Reduced Inequality

@850 5: OO DT 50 BT @& O 10: @90 Ieded SOAOD)
4. ¥ Goal 6: Clean Water and Sanitation and Goal 7: Affordable and Clean Energy

& 50 6: [E°HE3 396 S0BAIN TOH 0 0BAIN @ 50 7: TEMT VS $8 SdSen

Question Number : 50 Question Id : 630680200300 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Which of the following statements is/are correct about factors contributing to Global Warming?

A. The burning of coal and petroleum products (sources of carbon dioxide, methane, nitrous oxide, ozone).
B. Deforestation, which increases the amount of carbon dioxide in the atmosphere.

C. Methane gas getting released in animal waste.

A0S 80080 E5FSHNT 55570 180D 0B (DELSOS” DE HBIE/DBID?

A. ST 50050 DEOOHO &5 180> 3OO0 (STHYEND AN, DB S, JLD 638, 48 Soreren).
B. @6 &0, B eSS0 STHHENKD P00 DOXTETF), DOTHAOL.

C. 8065 S5T°OS DB S TN S,

Options :
1. ¥ Both A and B

A B8N B Doy
2. % Both A and C

A DB C BO&F
3.% A,Band C

A, BO8Aw C
4. % Both B and C

B 20005 C 3Oy

Question Number : 51 Question Id : 630680200301 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).
(A): Global warming is a gradual increase in the average temperature of the Earth’s lower atmosphere.

(R): Global warming is a result of the increase in greenhouse gases since the industrial revolution.

ZE (A) DOAW 52820 (R) @ QI 5226 &2 (80 BOCL 585050 002000 OB D0DED
DoTNEoR.

(A): BS 38200 0TE 2550 &) B TESE0S Hjexn eSS’ (S0 2SHSE.
(R): FO|FE DRSO ST 565 (ASSTR aA0Y DB HOSOT 20 808 DBIB0A.
Options :

1. ¢ Both A and R are individually true, and R is the correct explanation of A.

2,883 A SO0 R BOT OB 08050 R 9T A G30E) OB Daddea.
2. # Both A and R are individually true, but R is not the correct explanation of A.

2,857,823 A 083G R BOKT OB I, 5°Q R @036 A BEY OB B 5°C.
3. % A is true but R is false.

A DBIA 2 R ).
4. % A is false but R is true.

A %)) 5 R OBIA.

Question Number : 52 Question Id : 630680200302 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

(A): Environment includes all the biotic and abiotic factors that influence each other.

(R): Only the biotic elements of an environment provide renewable resources.
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ZEI (A) DO 52890 (R) @R RS 5203 68 180 BOY 58550 02200 OB N DODED
DOHE0R.
(A): DTEISEI0 ORE 2ETTPASEES (H2PNS0 TR @Y 2865 0B DS B OB 0enod.

(R): DTS20 TI0EY; 2865 S30TEITEN 83776553 )BT YT ISB 9O AW.
Options :
1. ¥ Both A and R are individually true, and R is the correct explanation of A.

2878263 A 08050 R BOGT OB 08050 R 9T A A308) OB DedSea.
2. % Both A and R are individually true, but R is NOT the correct explanation of A.

2528263 A 0805 R BOKT OB &S, 5°Q R @9 A G30E) OB DedBed 5°¢%0.
3. % A is true but R is false.

A QBIO 5 R ¢5)).
4. ® A is false but R is true.

A $)) 5 R OBIA.

Question Number : 53 Question Id : 630680200303 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

(A): A UN Conference on Climate Change, held in Kyoto, Japan, in 1997 called for reductions in emissions of greenhouse
gases by industrialised nations.

(R): Montreal Protocol banned the use of chlorofluorocarbon (CFC) compounds, as well as other ozone-depleting chemicals
such as carbon tetrachloride, trichloroethane (also known as methyl chloroform), and bromine compounds are known as
halons.

Lbé&%(A) QBN 5°B€90 (R) @A B SRS 3 80O BOLD 3°§85>50 02200 OB DODED
DOTNS 0.

(A): 199765 BPSES' §5eS° S’ TS S50 )03 2380 UN 28BS, 8|30 Baen 6% AT
POYO G TN SHOTTO DENYADNOA.

(R): Sr0.30DS (PSS TEPFTSE)S (CFC) I gsare DIATIrR), @erd 526)S BErS BE,
IRSTETS (DI DBS TEF 0 ST DENTK) DO 5SS TN e DeNSDT (NS
QaNTT O $5°cE® QQODOA.

Options :

1. # Both A and R are individually true, and R is the correct explanation of A.

2,883 A 08O R BOGT OB 08050 R 93 A G30E) OB DedSea.
2. % Both A and R are individually true, but R is not the correct explanation of A.

2,857,831 A S083A50 R BOKT OB I, 5°Q R @036 A BBEY OB DBed 5°C.
3. # A is true but R is false.

A DBI I R 6)).
4. % A is false but R is true.

A $)) 5 R OBIA.

Question Number : 54 Question Id : 630680200304 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

(A): The term sustainability is broadly used to indicate programs, initiatives and actions aimed at the preservation of a
particular resource.

(R): Sustainability is achieved by the social and economic improvement that protects the environment and supports equality.

LX)ééo(gs(A) B AN S0 (R) @A R 2R 8 180 DO 7585050 02200 OB DODEN
DOTNE 0.

(A): 28 QBN 33K TBwEy HOBE €80 TR0 oG5S8, BN BN WIS HFDOIETE
VBB T D0 DRSO EDTITAOVIDEB0A.

(R): DTSSR, B80T S0OAN DT S8 $DWBITI ) °e3re38 BN 38578390 & ST VB
POOTIDCEANOR.

Options :

1. ¥ Both A and R are individually true, and R is the correct explanation of A.

288263 A SO0 R BOGBT OB 08050 R e9JE A A308) OB DS,
2. % Both A and R are individually true, but R is not the correct explanation of A.

2,582,631 A 0BG R BOK OB IS, 57 R @03 A BEY DB DBed 5°¢.
3. ¥ A is true but R is false.

A QBIE ) R ).
4. % A is false but R is true.

A $) 5O R OBIA.

Question Number : 55 Question Id : 630680200305 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

(A): Governments around the world have undertaken to formulate and implement national sustainable development strategies.
(R): India has undertaken Swachh Bharat - Swasth Bharat (Clean and Healthy India) and achieved 100% rural sanitation and
a sharp reduction in stunting and child and maternal mortality rates.

Lbéeoés(A) QDBAN B0 (R) @A B SRS 3 80O BOLD °§850>80 002200 OB DODED

DOTNS 0.

(A): (DDOTIT IO &) (DTSN 2330 MRS 9DXYE TR SFFOBOITIE AT e
BOHTER8 POEOT®) OW.

(R): 27ESTF0 D53 2PES - D5 eSS (55 @008 276 OB THES 100% (PRoea FOHI)
OO0 O STE 3D DEET FET) HEADONOM SO0,

Options :

1. ¥ Both A and R are individually true, and R is the correct explanation of A.

2878263 A SO0 R BOT OB 08050 R 9T A G30E) OB DedSea.
2. % Both A and R are individually true, but R is not the correct explanation of A.

2,857,831 A 08050 R BOKT OB I, 5°Q R @936 A BBEY OB DBed 5°¢.
3. # A is true but R is false.

A OBIE 5 R ).
4. ® A is false but R is true.

A ) 5°Q R OBIA.

Question Number : 56 Question Id : 630680200306 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following CANNOT be termed as a vital function performed by the environment?

&3 (808 T3S DA HTSEE0 T $T° DB L2POI0T EOETS DT D) 23¢8¢%0?
Options :
1. #® Providing aesthetic services.

EerRr00°5538 IO @000,

2. % Sustaining life by providing genetic and bio diversity.

2308 o 0B 285 IVG°EA), 0E0TI0 T3° ST BT, V238 B0.
3. ¥ Assimilating wealth.

HOHARD HAEBOHEO.

4. % Supplying renewable and non-renewable resources.

DIERB0INE BN HSBDE0IBA ISR SBNT® TANSLO

Question Number : 57 Question Id : 630680200307 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Rohtang Pass is a high mountain pass in the Indian state of Himachal Pradesh that connects Kullu valley with of
Himachal Pradesh.

FH0N TR IO 2rEBTIOS ' 2SS (DTSR IBS HAS 5 S0, A Foe0 S'ADK LSS
DBTSD & EenHS0H.

Options :

1. ® Leh Valley

ST S'AH
2.+ Lahual and Spiti Valley

eSS DB D) S'aD
3. # Dholi Valley

EO S'cH
4. % Ladakh Valley

TP STH

Question Number : 58 Question Id : 630680200308 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Correct
Marks : 1 Wrong Marks : 0.33

Vandaravu Peak, Perumal, Velliangiri Mountains and Anamudi are famous peaks/hills of which of the following ranges?

831808 O B 3040 BDB0, DHSFS, SOCHOAB HS s8N HBAM STINEG (VO ToAD
FT°EN/SOCeN?

Options :

1. ¥ Eastern Ghats

S Saen
2. % Western Ghats
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DF)oN Ehedoen
3. % Vindhya Range

Do 33
4. % Satpura Range

e )O° (33

Question Number : 59 Question Id : 630680200309 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is a mountain pass in the Himalayan peaks that co-joins Sikkim and China’s Tibet Autonomous
Region situated on the Indo-Tibetan border 14450 ft above sea level?

& 1808 ¢3S’ 7SO0 FPTOES Y3 o) DB 565 S3C0, N[ HETIE 14450 €980 DRSS’ €S
R0E-3BES HOTVS €55), EY0 BN T TINEY E3BES 9EFSDR [FFPOTO FeNHSOE?
Options :

1. # Auden’s Col

ST 5O

2. % Baraclacha La

DOS T e
3. % Chanshal Pass

DS IR
4. % Nathu La

NEOVISN

Question Number : 60 Question Id : 630680200310 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Kishanganga river is the tributary of which of the following rivers?

31808 ¢3S’ 8ASHON B & IO &IIE?
Options :
1. ® Ganga

lefels
2. % Jhelum

OO0

3. % Yamuna

NN

4. % Godavari

a¥eRNTe)

Question Number : 61 Question Id : 630680200311 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct about the rivers of India?

A. The main Himalayan river systems are the Ganga, the Indus and the Brahmaputra river systems.

B. The main peninsular river systems include the Narmada, the Tapi, the Godavari, the Krishna, the Kaveri and the Mahanadi
river systems.

C. The Indus originates in the northern slopes of the Kailash range in Tibet near Lake Manasarovar.

2PSESTFOS ' S0 HEO0D) &5 180 ¢3S’ DBIE DE?

AL DG ST S 550 BOMT, DO OO (DTS 6 SgdDe.

B. (OGS B 5580) & 35300 IS0, &9, T8, 9o, S50 B0 s8I S §59dexn
Ea0°) O.

C. DO S IFSIIEFIE DB D0 3’ Zerd (363 TSy GBS e’ &5)HN0D0E.

Options :
1. ® Both Aand B

A 083N B Boy
2. ¥ BothBand C

B 08 C Doy
3. ¥ Both Aand C

A DB C Do
4.+ A,Band C

A, B 8w C

Question Number : 62 Question Id : 630680200312 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

(A): The Mahanadi River System is called the Perennial River.

(R): Perennial rivers are called so because they get water from the rainfall as well as the melting ice of the Himalayas.

ZEI (A) DO 52890 (R) @ HE0H0GN €8 (80O BOCK a3°§85050 H0220HO0D) OB N DODED
DoHEoR.

(A): I S X530 % 568 S OLF K.

(R): ST 50 30BN aFArO A5 TZNEY EBMHEAD) 00T Q0 DB0SEOM NI FOSEH0 SO €0
B3 §€5 QNN LT DENIICHTOW.

Options :

1. #® Both A and R are individually true, and R is the correct explanation of A.

288263 A SO0 R BOGT OB 08050 R e9JE A A308) OB DedSea.
2. % Both A and R are individually true, but R is not the correct explanation of A.

2,857,823 A B3G50 R BOKT OB IS, 57 R @036 A BEY DT dBed 5°C.
3. ¥ A is true but R is false.

A QBIO SO R ).
4.+ A is false but R is true.

A $)) 5 R OBIA.

Question Number : 63 Question Id : 630680200313 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).
(A): Daringbadi in the state of Odisha is an ideal summer resort which is popularly named as ‘Kashmir of Odisha’.
(R): It is called so because just like in Kashmir Chinar tree grows in Daringbadi.

LZEI (A) DO 52890 (R) @ HE0H0G €8 (80O BOCK a3°§55050 H0220HO0D OB N DOV
DOTHEOA.

(A): 2285 TR0 BBORDA 208 GBIRD IO DA, A '35 &3D 20&T' 9 DV L.
(R): 532665 AN 5802’ §ce D0 TEY DAHE 0N 57203 AR eer DT K.
Options :

1. ¥ Both A and R are individually true, and R is the correct explanation of A.

288263 A SO0 R BOGT OB 08050 R 9JE A A308) OB DedSea.
2. % Both A and R are individually true, but R is NOT the correct explanation of A.

257,853 A S0BA0 R BOKI 2,088 OBID, 5°Q R @03 A TBEY DTS DS 5°¢.
3. % A is true but R is false.

A QBIE A R ).
4. % A is false but R is true.

A $) 5 R OBIA.

Question Number : 64 Question Id : 630680200314 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

(A): As per India Energy Outlook 2021, published by International Energy Agency (IEA), India has been ranked the third
largest primary energy consumer in the world.

(R): This was because the Government of India has allowed 100% foreign direct investment (FDI) in many segments of the
sector, including natural gas, petroleum products and refineries, among others.

Lbéeoés(A) QB8O 528290 (R) @ HO0I0R &5 (808 BOH a8 530 H0220QO0D DB dONEN
DOTNS 0.

(A): ROEBYAIS DS DB Y (IEA) 1HTNE0DS BOBAST DS ZLeESens 2021 (DSS0, 2SSO
DNDOVOS'S 5077655 €930 (BFGME RO AATIeHTSd T°508 FoBOB.

(R): D23 SO0, DEOAH0 E5e5 18800 HOTIM HE ST ITTrOS DI S8 S0H0S ) e9E ;’)wwej
2355 (52506550 100% DTF (96558, 22RO (FDI) @9 00B0D0E.

Options :

1. ¥ Both A and R are individually true, and R is the correct explanation of A.

2878263 A 08050 R BOT OB 08050 R 9T A G30E) OB DedSea.
2. % Both A and R are individually true, but R is NOT the correct explanation of A.

2,857,831 A 08050 R BOGT OB I, 5°Q R @036 A BBEY DB DB 5°¢.
3. % A is true but R is false.

A OBIE 5 R $3)).
4. ® A is false but R is true.

A ) 5°Q R OBIE.

Question Number : 65 Question Id : 630680200315 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

(A): The Western plain has been formed by the interplay of the three major river systems, namely— the Indus, the Ganga and
the Brahmaputra.

(R): This is because the rivers coming from the Northern mountains are involved in depositional work and in the lower
course, due to the gentle slope, the velocity of the river decreases which results in the formation of riverine islands.

O (A) DBAW 52820 (R) @ 805203 83 180 B0 7585050 Q02200 OB Q0NED
DoNFoR.

(A): DO, HOTP B (25T €9 sITCE) (T S 53D DBDIS T588 S DB e S VTS0
NBIROA.

(R): &S HS ST 00 ST 0N QDS € 03700 BTN BN 23506, Q) S0

TN SEEIOMT, SE B0 A0, A DOSOTT & 38 & SN DS YT oW,

Options :

1. ¥ Both A and R are individually true, and R is the correct explanation of A.

288563 A SO0 R BOGT OB 08050 R 9T A A308) OB DS,
2. % Both A and R are individually true, but R is not the correct explanation of A.

20528263 A 0805 R BOGT OB XSS, °Q R @9 A G30E) DB DedBed 5°¢%0.
3. ¥ A is true but R is false.

A QBIO ) R ).
4.+ A is false but R is true.

A $) 5O R OBIA.

Question Number : 66 Question Id : 630680200316 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).
(A): At Rajahmundry, Godavari forms a very fertile delta.

(R): This is because, 80 km from the coast, Godavari splits into two streams.

LA (A) DOAW 52820 (R) @ 50805208 83 80O B0 758550 02200 AT DOVED
DoNToR.

(A): T°2300( 3, eI T PBS0H TS B DB YER0E.

(R): B 525690, F° DHOG 80 km BTS00 FTedd S BOCR FANENT IS0,

Options :

1. ¢ Both A and R are individually true, and R is the correct explanation of A.

2.8782.63m A 08O R BOT OB 08050 R 93 A G30EY OB Daddea.
2. ¥ Both A and R are individually true, but R is NOT the correct explanation of A.

2,857,831 A B3G50 R BOKT OB I, 5°Q R @036 A BEY OB DB 5°C.
3. # A is true but R is false.

A DBI I R ).
4. % A is false but R is true.

A $)) 5 R OBIA.

Question Number : 67 Question Id : 630680200317 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

In February 2023, in which State or UT, Geological Survey of India (GSI) for the first time established 5.9 million tonnes of
inferred resources (G3) of lithium?

D238 202365, Q TR0 B UTS, 28Bere3ES OB 5 &35 0BT (GSI) SISO 5.9 OAHS
0@ AAOHO ABNEY €IS 3B (G3) FDOOE?

Options :
1. * Himachal Pradesh
FUNVINIO) Lb@sg

2. % Jammu amd Kashmir

230500° 52925
3. % Odisha

2,Gar
4. ® Ladakh

OBD

Question Number : 68 Question Id : 630680200318 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Katakhal, Jiri, Chiri, and Modhura are tributaries of which of the following rivers?

RS, 28, DB 0800 Jrend & (80 & SO s dIen?
Options :

1. # Brahmaputra river

223°2a9)(d &
2. % Barak river

20°8 &

3. ¥ Mahanadi river

INVEONTA)

4. ¥ Tapi river

RN

Question Number : 69 Question Id : 630680200319 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which year the Vignana Chandrika Mandali published Andhrula Charitramu (History of Andhras)?

DS 0O 00O e30(C0E TIB(50 (BB &5 0GR & D053 (HTNE0D0E?
Options :
1. % 1915

1915
2.9 1910

1910
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3. % 1919

1919
4. % 1905

1905

Question Number : 70 Question Id : 630680200320 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

At the time of the formation of Andhra state, the Alur and Adoni talukas were included in which district?

&S30(E5 T8 95565369 NANOE’ 337°¢ DO SEQ BT & B e 007
Options :
1. # Chittoor

QTS

2. ¥ Anantapur

©N0SYB0
3. % Kurnool

ORIV

4. % Nellore

SOB

Question Number : 71 Question Id : 630680200321 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Due to whose efforts an anicut across the Godavari river at Dowaleshwaram was completed in 1849?

D38 EJx 5 184965 95FF 650 S FErsdB SE S 3588 §8¢80 Sy Bons0&?
Options :
1. # Sir John Macpherson

00 2R S DB

2. % Sir Thomas Munro

08 770 (S’
3. % Sir Arthur Cotton

55 e85 S

4. % Sir George Barlow

58 28 o8

Question Number : 72 Question Id : 630680200322 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In which of the following years was the Andhra Pradesh Land Reforms (Ceiling on Agricultural Holdings) Act of 1973
enforced?
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&3 1808 & 055506 e30|BS(NTT 25 D0 B (S55T0% 25IBNEY) TIEO 1973 €950
BOHDA0E?

Options :

1. ¥ 1975

1975
2. % 1973

1973
3. % 1974

1974
4. % 1976

1976

Question Number : 73 Question Id : 630680200323 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

At which place did the English army defeat the French army and the Northern Circars were made over to the British in 17587

175865 307105 XS0 (B0 DY & (DBF0S” .E0D0E DO &edd Ho) 8% (DedR 68
0 )A0DOE?

Options :

1. ¥ Cheepurupalle

AHHHS
2. ¥ Badangi

2265008
3. % Bobbili

Y AN
4. % Chandurthi

S0n8

Question Number : 74 Question Id : 630680200324 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Who was the queen of Bobbili during the Bobbili-Vizianagaram battle of 17577

1757 &) )O-D23aH38SE0 AN H0AH0eS S5DNO T°ed edBd?
Options :
1. ¥ Mallamma Devi

D™ B
2. ¥ Rani Bhagmati

o°ed 2o e3

3. % Adi Laxmi Devamma

SO 08§ TI®

34/81



4/4/23, 4:04 PM
4. % Rani Akkadevi

0°e3 @95°). 33

Question Number : 75 Question Id : 630680200325 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Who among the following established the “Vignana chandrika mandali” in Hyderabad in 19057

&3 1808 86 190565° rNTerES "D2PS TIOIAS 0O FPRODSTED DSED?
Options :
1. % Kandukuri Veereshalingam

E0cHErd NB¥DoK0
2. ¥ T Rangachari

&3 Somrrd
3. % Komarraju Venkata Lakshmana Rao

§0|0°2 308 ©8 26007
4. ¥ Y G Parthasarathy

3 2 IEIEE

Question Number : 76 Question Id : 630680200326 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Who was one of the founders of the “Srikrishna Devarayandhra Bhasha Nilayam” institution that was established in
Hyderabad to develop the Telugu language and literature in Telangana in the early 20th century?

2055 3820 (PB02506S° BOOMEIS B 375 HBASN T ere@esd) 0DSHR TOCHEL ST
0B FD0TIDAS “BEYR BST OO 27l ON0” HOR FHODS O’ 2,550 SE0?
Options :

1. ¥ Kutikuppala Surya Rao

B0¢3500)© QTR0

2. % Lakshmanarao Komarraju

& 2000°) S|
3. # Ayesha Rubina

eahar O
4. % Manthena Venkata Raju

NOBS Joge T

Question Number : 77 Question Id : 630680200327 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which of the following years did the English establish a factory at Machilipatnam, Andhra Pradesh?

&3 (808 ) 50555506 30T0NE &0 (HDTTS'Q HAONE 0’ 28 ET°TTR) FDOTTE?
Options :
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1. ¥ 1617

1617
2. % 1608

1608
3. #1615

1615
4. 1611

1611

Question Number : 78 Question Id : 630680200328 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which year was Andhra Pradesh (Andhra Area) Estates (Abolition and Conversion into Ryotwari) Act formed?

S0(AINTB (0[S |0H0) DRE) (BLY B0 B&° S8 5578 )¢50) IO & Hodes Y50’
S0 O0IDGB0E?

Options :

1. ® 1951

1951
2.9 1948

1948
3. % 1945

1945
4. % 1938

1938

Question Number : 79 Question Id : 630680200329 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following well-known social reformers wrote the history of Japan in Telugu during the early 1900s?

19000 [FS02506S 23S TIB(€5e BeNHES’ (TR VG D0 HDOKDLE DSEB?
Options :
1. ¥ Desiraju Peda Bapayya

B30 0 20D
2. ® Nyapati Subbarao

D°E0E3 2I°)T°Y)

3. #¥ Sriram Virabrahmam

1R0°0 DB[223°20
4. % Adipudi Somanatha Rao

S AFNTDTY)
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Question Number : 80 Question Id : 630680200330 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which college incident in 1907 is known as the beginning of student participation from Andhra Pradesh in the freedom
struggle of India?

190765 2380 & EF°F°) DOMEIS 2TBSHTIS I SeH0(eh s FTE0S’ 0[S 1DTF HOG DO
2P 5307808 PO (DG TOO0E?

Options :

1. ¥ Chittoor College incident

DBFE 37 Q0D
2. % Kurnool College incident

EE) €0 §¥°F° 0N
3. % Rajahmundry College incident

0°23600(& 8§93 Q0NN
4. % Hyderabad College incident

2020028 E9°3° Q0

Question Number : 81 Question Id : 630680200331 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

When did Andhra Pradesh Legislature become bicameral for the first time?

&S0 INBT FPDZS INAEII O 52300 DY JER Sr80E?
Options :
1. # 1956

1956
2.9 1958

1958
3. % 1960

1960
4. % 1972

1972

Question Number : 82 Question Id : 630680200332 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
When was the Prajala Vaddaku Paalana (PVP), a government initiative of Andhra Pradesh to reach the doorsteps of the
people, launched?

19238 R0E3 5B DBFOSD BOZT™FOR 0[S (DTF (2525065 50 TBNEY LSS, (2B SOK FedS
(PVP) D)) (PB0D 002230 E?

Options :

1. ¥ 1995

1995
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2. % 1997

1997
3. % 1999

1999
4. % 2001

2001

Question Number : 83 Question Id : 630680200333 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following territories of the existing State of Andhra Pradesh of 2014 was NOT included in the state of
Telangana?

2014 °¢3 @303 T RO &3 180 ) LBFaTTPeN SO TR0 TS )RS 0?
Options :
1. ¥ Adilabad

sOererd
2. % Warangal

SB08S
3. % Palnadu

D) C
4. % Nalgonda

NoYela

Question Number : 84 Question Id : 630680200334 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In which year had the Andhra Pradesh government and the Singapore consortium established a multi-layered partnership
structure for the development of the Amaravati Capital City Start-Up Area Project?

295005 525DES e3 °0-099 DBAIF |FBT @859 §R0 0| GSNTT (52065 S0 SHOAW DOHYD
E5°)0090 & D055 )B06S 2STVFT 0N 2THR° £e0§ AT ETRY, DT®IEN T3°0W?

Options :

1.v 2017

2017
2. %2019

2019
3. % 2016

2016
4. % 2020

2020

Question Number : 85 Question Id : 630680200335 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
With which country did the Andhra Pradesh government sign an MOU for Ku Band services on MEASAT 1 and MEASAT 2?

MEASAT 1 $5803% MEASAT 2 ©¢3° Ku Band 0850 §00 €30(Q(DB3 (325065 50 & BF0S MOU HOoedE0
Z0E?

Options :

1. # Singapore

el Ve
2. % Malaysia

BASF

3. % Japan

20
4. ¥ The US

OVWENIN

Question Number : 86 Question Id : 630680200336 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
What is the approximate count of MeeSeva authorised agents (working and non-working) in Andhra Pradesh as of January
2023?

2309658 2023 €38 e30(IINTTES” WV @HEYS DBOLY (D TN, OG5 D TON) MSFPSNT JOch
O &) K?

Options :

1. ® 10085

10085
2. % 7056

7056
3.9 11079

11079
4. ¥ 15043

15043

Question Number : 87 Question Id : 630680200337 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which e-government project of Andhra Pradesh was adjudged one of the ten finalists in the International Innovation awards
programme instituted by the Commonwealth Association for Public Administration and Management?

520D 5O OFVTNAS HE HAT 9B NS ©0& T2 D0 &° ST° TS ROLTY NS
AS") BAS D) (MOS” HE DIOWOS' 2,5e3 30(HINTBE TOAS & R-1558) O (=8
DODTOE?

Options :

1. ® JnanaBhumi
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EENEAVAN

2. ® Prajavani

(2P eed

3. % meeSeva
AR

4. % CARD

5°0 (CARD)

Question Number : 88 Question Id : 630680200338 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The AP Decentralisation and Inclusive Development of All Regions Repeal Bill was introduced in the assembly of Andhra
Pradesh in:

AP DZ0IAESE B0 @) [FF0T® H2De5 DHHO B DN SO(BINTT 0D’ S
B5H0HOE |HSFDEFE:

Options :

1. ¥ March 2020

Q8 ) 2020
2. ¥ March 2021

8 2021
3. % November 2020

30225 2020
4. % November 2021

NS00 2021

Question Number : 89 Question Id : 630680200339 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
With which of the following international management consultancy firms the government of Andhra Pradesh embarked upon
a major exercise to define Vision 20207

D258 2020 DS sDOITAE e0(INTT (9206550 3 180E &) @OST°BOH 25 OE ESHIBAY
HONOSE EO 2.8 DY 5B ESITY, (PE0DODOE?

Options :

1. ¥ The Boston Consulting Group, Inc.

SRS 85738 0f (1159, ROS.
2. ® AlleyAex Consultants

DT E3)B0&)
3. ¥ McKinsey & Co.

D8I & &
4. % Bain & Company
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BS & 0D

Question Number : 90 Question Id : 630680200340 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

When did Andhra Pradesh split, resulting in the formation of Telangana state?

D)) &0 (DTT V322022 BOOMED TR0 DBIROE?
Options :
1. % April 2014

DS 2014
2. % May 2014

2014
3. % June 2014

S 2014
4. % July 2014

2™ 2014

Question Number : 91 Question Id : 630680200341 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement is/are INCORRECT about the history of the formation of Andhra Pradesh?

Statement A: In 1950, the southern and eastern Andhra portion was incorporated into Madras state.

Statement B: In 1952, Andhra state was formed, which included the Telugu-speaking districts of the former Madras state to
the south.

Statement C: Through the States Reorganization Act of 1956, the state of Hyderabad was split up, and its Telugu-speaking
districts were joined to the Andhra state to form the new state of Andhra Pradesh.

30(BSNTT 5SS IB(5E) D0D0BOD) &8 180 T3S O (HELI/EN ST &0E?

1D8ES A 195065, 58 69 SHBARM TG 0(EY 230 SN T A0S’ DOSO TOKH DGO,

195 B: 195265°, €305 TR0 EIG0E, RO’ 58 6775 €59 J°8 5 s T RO Benth Srer s
RPN ") OW.

IDEES C: 1956 T°aT® eSS $59EB DO @ ST°, 37NT2rE TR0 DA, IS BenH-Srers
BP0 e30( TR0 EO ' e30(H(DTT TR0 DEITOW.

Options :

1. ¥ Both A and B

A DBAN B BO®
2. % Both A and C

A DB C Bo&y
3. % Both Band C

B 0803 C Bocdr
4.+ Only B

3300 B

Question Number : 92 Question Id : 630680200342 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Correct
Marks : 1 Wrong Marks : 0.33

In March 2023, the Andhra Pradesh Cabinet gave its approval to replace the Mandal Legal Services Committee in the
outsourcing process with which of the following newly formed mandals?

A: Anaparthi

B: Piduguralla

C: Maidukuru

D: Palnadu

5528 20236, TEFS 0B 1DEAHS’ 90 S ONS HESN E¢3 T0S FSMT DT°) B DOBeTreS
DT"R0TOR SOANTT SPEDTE &30 BODOE?

A: @358

B: ?DC@D(SJO“’@;

C: DOCIEFES

D: D) &

Options :

1. % A, Band D

A, B 83N D
2. % B,Cand D

B, C 083N D
3.% A, Band C

A, B 805» C
4. % A,Cand D

A, C B3N D

Question Number : 93 Question Id : 630680200343 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Correct
Marks : 1 Wrong Marks : 0.33

By which of the following states is Andhra Pradesh bordered in the south direction?

&3 1808 ¢3S’ & T (20 9869 AFS’ 30|NTB B0 BTN G0E?
Options :
1. # Karnataka

Sgrerd
2. % Tamil Nadu

ST

3. % Maharashtra
NSO

4. ¥ QOdisha

2.5ar

Question Number : 94 Question Id : 630680200344 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following soils is also known as Regurs or Vertisols?
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%1808 T3S’ & T BHB B IOFS @9 e DV E?
Options :
1. ® Laterite soil

SO I
2. % Red soil

O I
3. % Black soil

SOBEG I
4. % Skeletal soil

©VD0BY T

Question Number : 95 Question Id : 630680200345 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per the India state of Forest Report 2019, which of the following types of forests was found the most in Andhra Pradesh?

Q0BT RVE & VR O 2019 (DSS0, & (80B 857 9%HOS” 0|SNTTES DB DABOD
)LD D?

Options :

1. # Dry deciduous scrub

A SRS (035
2. ® Dry red sanders-bearing forest

S IO TODS e9¢8)en

3. # Southern moist mixed deciduous forest

58,89 B3 F SRT S @9¢hayen

4. ¢ Southern dry mixed deciduous forest

8.9 &P F SHHT S ) ecHen

Question Number : 96 Question Id : 630680200346 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Through which of the following districts of Andhra Pradesh does the river Krishana NOT flow?

S0(BINTTS'Q &k (B0 ) BT HOTE E9ar S (De3e70TIN?
Options :
1. ¥ Anantapur

0580
2. % Kurnool

&) en
3. ¥ Ranga Reddy

o 3G
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4. % Warangal

SSonS

Question Number : 97 Question Id : 630680200347 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Correct
Marks : 1 Wrong Marks : 0.33

How much percentage of India’s total Heavy Mineral Beach Sands resources are available in Andhra Pradesh only?

2rESTIOS’ BNB0 278 P S BNE HSHS” D0 F°eH0 e0(IDTTES’ ST(¢553 0CHEFENS’
&™) 07

Options :

1. % 17.7%

17.7%
2.9 30.4%

30.4%
3. % 93.5%

93.5%
4. % 42.1%

42.1%

Question Number : 98 Question Id : 630680200348 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Correct
Marks : 1 Wrong Marks : 0.33

Which of the following districts of Andhra Pradesh has Bauxite reserves?

S0(BDBTSQ & (B0 ) 2B’ 2378 3¢5 A 500 G 0n?
Options :
1. ® Krishna

S0

2. % Kurnool

HOURYSY
3. % East Godavari

&3 e d

4. % Guntur

DO

Question Number : 99 Question Id : 630680200349 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following soils are found extensively in the deltas of Krishna and Godavari and also these are the most fertile
soils in the State of Andhra Pradesh?

& 1808 ¢3S’ 9ol B FTrS8 B JYSOM EINOT TN D HOCIM A S0|SIDTBT
(20" @9e550¢H PSS0BH TS DOEeN?
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Options :
1. % Deltaic alluvial soils

30w 2,0 Jeew
2. % (Coastal alluvial soils

& 2,0(CH FOEN

3. ¥ Laterite soil

SO I
4. % Skeletal Soils

VN0E JOEN

Question Number : 100 Question Id : 630680200350 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Correct
Marks : 1 Wrong Marks : 0.33

Which soil of Andhra Pradesh has poor fertility and high acidity, and covers approximately 1% of the land area of the state?

S0(BNTTS’ & T 50369 FSES50H0 DO O €305 SO 0B HBAW TR &5rerroes’
QAT 1% eSO DOE?

Options :

1. ¥ Skeletal soils

VN02E JOEN
2. % Lateritic soils

SerBe38 Jen
3. # Black soil

SOBUSG J©

4. ® Coastal alluvial soils

BSOS 2,08 TN

Question Number : 101 Question Id : 630680200351 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Correct
Marks : 1 Wrong Marks : 0.33

Which is the largest tributary of Krishna River in terms of drainage area?

e TSRO [P0S0 DACHOS EHaF SEE BV DI DE?
Options :
1. ¥ Malprabha

S(SAA
2. % Dudhganga

S & Ko
3. ¥ Tungbhadra

005
4. ¥ Dindi
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GB0& (HOGK)

Question Number : 102 Question Id : 630680200352 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

How much limestone was produced by Andhra Pradesh in terms of percentage of total production in the country during the
year 2019-20, as per the Indian Minerals Yearbook 20207

R0BAHNS DSBS ) BAHE 20§ 2020 (DSG0, 2019-20 DOSBISOS” BFOS” BNBO E¢h e FeHO |HSEO
0| BINTT DO ) NT"ONA &¢h I TIOE?

Options :

1. 12%

12%
2. % 20%

20%
3. % 7%

7%
4. % 10%

10%

Question Number : 103 Question Id : 630680200353 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
What was the total estimated coal reserve (in million tonnes) in Andhra Pradesh as of 1st April 2022 , as per the Coal
Inventory published by GSI?

GSI [DTHB0DS §S BT 068 1H5°30, 1 DS 2022 T°¢38 e30(HIDTFS” 0TI IONAAS STH ded sen
(QOADNS &) S) Joes?

Options :

1. % 47831

478.31
2. % 525.01

525.01
3.9 4141.87

4141.87
4. % 1061.8

1061.8

Question Number : 104 Question Id : 630680200354 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
At which place in Andhra Pradesh Godavari river splits into two major streams namely Gautami Godavari and Vasishta
Godavari?

S0(BINTTS’Q F 8 S & IDTFOS” FH F 3238 0O 530 FEreI8 9T BOC (DT (TSI NT
DO E0E?
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Options :

1. % Dowlaiswaram

3T % sB0

2. % Kurnool

&) e
3. ¥ Guntur

0T
4. % Anantapur

©S0e5)S0

Question Number : 105 Question Id : 630680200355 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
According to the Andhra Pradesh Reorganisation Act of 2014, which of the following will be the common capital of Andhra
Pradesh and Telangana for an initial period of ten years?

2014 SO(BIDTT DB £55VESE 5O (DSB0, INCEES HTY ST &8 180B 3°¢3S e0(BSHTF OO
BOOMPROR XA TR DO GOLVOA?

Options :

1. % Hyderabad

PN AR
2. ¥ Amravati

SNV oY)

3. ¥ Kurnool

&y en
4. ¥ Visakhapatnam

DF°DDEI) O

Question Number : 106 Question Id : 630680200356 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
According to Andhra Pradesh Reorganisation Act 2014, where was the headquarters of the Godavari River Management
Board said to be located?

S0(SNTT DS $5IVEBED IO 2014 (DSS0, FETdId A 5T 57 (DT SPT°50H0 & ¢h
&O8?
Options :

1. # District Kurnool post bifurcation

NS ST §ed B e 23°
2. % Hyderabad

PN A)
3. % Successor state of Andhra Pradesh
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D23 HT°5ed SO(H(DTT TR0

4. ¥ Successor state of Telangana

D323 HT°ed BOOME) T QO

Question Number : 107 Question Id : 630680200357 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
According to which article the Parliament may provide for the adjudication of any dispute or complaint with respect to the
use, distribution or control of waters of, or in, any inter-state river or river valley?

O ©EEBEIO0 (DFB0, VB @0 TR SO B & S0HS S esere> IATZFHO, DoV S
QOO D0OB0D) BT® D0 B DT°SCID €350 )0 FTD00w e0ANOE?

Options :

1. % Article 262

e OEHE0 262
2. % Article 125

8890 125
3. ® Article 268

e QEBEI0 268
4. % Article 265

e OEHEI0 265

Question Number : 108 Question Id : 630680200358 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Telangana handed seven mandals in the Khammam district to the state of Andhra Pradesh for the facilitation of the
development of which of the following projects?

31808 ¢3S’ & [TEY ©9DN9Q 2550 §0 BOOMPED D30 B’ D SNOBETOD e0(8 (DTS
0708 @90)A0D0E?
Options :

1. % Polavaram Irrigation Project

SFS80 RETAS (S5

2. ¥ Ambugaon Project

02T (TR
3. ¥ Bheempoor Project

Dosy5 (=8

4. % Chennur Project

BB BT

Question Number : 109 Question Id : 630680200359 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
When was the Andhra Pradesh Decentralisation and Inclusive Development of All Regions Act, 2020 Act withdrawn?
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S0O|BINTT DT0(AEBED HOASW @) |r0Ered DN ©@8SHQ IO, 2020 TIEO D) IER
EIN0TE0NDG0E?

Options :

1. % 2020

2020
2. % 2023

2023
3. %2021

2021
4. % 2022

2022

Question Number : 110 Question Id : 630680200360 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which rank did Andhra Pradesh get in the Social Progress Index drawn up by Institute for Competitiveness and Social
Progress Imperative in December 20227

&025 202265 AIVEIPSE DB 50033 STR ©90&% FAS (TR BODDEIS SEPFOOODS FsS5ee3
1968 SrDEES’ e0|NTT ) T°S05 FOHOE?

Options :

1. % 30

30
2.% 3

3.% 13

13
4.9 23

23

Question Number : 111 Question Id : 630680200361 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Andhra Pradesh Rural Inclusive Growth Project in the year 2015 to eliminate poverty, women empowerment, increase
agricultural income, and secure increased access to human development services and social entitlements in the 150 most
backward mandals was a collaboration of the Andhra Pradesh Government with whom?

295508 DOEDAS 150 SHD0HEFES DSOE DETION, SITPT® FETBeh, SSSTOD STTAF),
DOSFOAOTI0 SNOAN SFPSTESTHE 5 S0BAN S5528E I8P 8 FOTTOCHE 2015 HOSe B30
e30(S(NTT TP DD 59 (BT 50 0(B(DTF 19925065 50 DB DV H TIOE?

Options :

1. # Melinda Gates Foundation

SO0 1) D OBAS
2. ¥ United Nations
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0850°23 50 e3

3. ¥ Central Government

o[4S 1H2ed SO
4. % World Bank

(0000 23°§080

Question Number : 112 Question Id : 630680200362 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

As per the DPIIT report, how many crores of investments have materialised/realised in Andhra Pradesh in Jan-July 2022?

DPIT QSEE (D580, 2022 2583558-23B6S” e50|S(0BTS” D), 5 0ENEEN 9T )00?
Options :
1. % 61,987

61,987
2. ® 51,546

51, 546
3. ¢ 40, 361

40, 361
4. % 39,897

39,897

Question Number : 113 Question Id : 630680200363 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT a source of own revenue for Andhra Pradesh state?

&3 1808 73S’ 0| BNTT T (aTE FOch 3705 9B S AO?
Options :

1. ® Taxes on vehicles

PP 2 D) N

2. % Customs duty

850 csrsed

3. ® Taxes and duties on electricity

DENFET DY EN $0OAN NOSEEeW
4. % Stamp Duty and registration fees

F0R 855¢3 0BT B NS D

Question Number : 114 Question Id : 630680200364 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Government of Andhra Pradesh took some important initiatives in the urban development sector in 1996 for using urban
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land as a resource, by

D869 2570 HSBT ENTPA0TICE0 §0 199665 e30(C5 1DT3F (9206550 DEQETDH9D SorfocS
@ 07 §Q), NP SeEFES8TO) THEI0H.

Options :

1. ¥ converting agricultural land to commercial land

53O 25N 323§ 2P 8 353°S )0

2. ¥ streamlining the levy of development charges

2©0DIIQ OO DO (E0OEB0TIS0

3. % selling government land

(02306€% § 25570 VSN0 0

4. % setting up alcohol vending shops on vacant land

2@ D0’ IS0 CRTETEN DTIEN TANCO

Question Number : 115 Question Id : 630680200365 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which is the nodal agency for networking with non-resident Telugu-speaking people outside India and pooling financial
contributions towards the development of schools, colleges, hospitals and community infrastructure in the villages and wards
of Andhra Pradesh?

2PSSTIFO FENN 59 BV STEFT Do 5O Fe5:583,00 TONETIE HOW e0|BSNTTS'
(TPSe) sDBO5N DO FEFOEN, E&°FOEN, NIV D5 Eo075¢3 STOE DT AT

29 N9Q8 9% HIPTT) DWEBOT SRS DB Y NE?

Options :

1. ¥ Praveshi Divas

10533 B3R
2. ¥ APNRT Trust

APNRT (&)
3. # Planning Commission

DETPS SO0

4. ® Finance Department

08 Y

Question Number : 116 Question Id : 630680200366 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
As per Andhra Pradesh Industrial Development Policy 2020-23, for an industrial project to be accorded ‘mega’ status, how
many people should it provide employment for?

S0(BINTT FOF°NE 959D TR 2020-23 (DB, 208 FB(FNE RN E0 T’ VT
EO YOO, D0ed NODE & O H)0w*d)?

Options :

1. % 6000
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6000
2. % 2000

2000
3. % 5000

5000
4. % 3000

3000

Question Number : 117 Question Id : 630680200367 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

What is the expansion of APIIC?

APIIC DB B0 dae3?
Options :
1. ¥ Andhra Pradesh Indigenous Infrastructure Corporation

@OL@L&@S% Q0525 '&5L§)’°L<§§Q5 58 383115 (Andhra Pradesh Indigenous Infrastructure Corporation)
2. #® Andhra Pradesh Indian Infrastructure Corporation

SO(PDTT QOAANS AT RE)D 5T IBAS (Andhra Pradesh Indian Infrastructure Corporation)
3. ¥ Andhra Pradesh Infrastructure Industry Corporation

S0(SNTT BSDEID RO SEIBAS

(Andhra Pradesh Infrastructure Industry Corporation)
4. ¥ Andhra Pradesh Industrial Infrastructure Corporation

Q—BOLCﬁLXJan? ’élOCéL?gOﬁDGs QSL@”L@§Q5 Sile) 036&'15 (Andhra Pradesh Industrial Infrastructure Corporation)

Question Number : 118 Question Id : 630680200368 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which rank has Andhra Pradesh obtained in the Business Reform Action Plan (BRAP) 2020-21 rankings for the ‘Ease of
Doing Business’ category?

TS5BS HDONL B ST°STISE (TS (BRAP) 2020-21 T°S080R ) &8 39 60000 DBV’ DeriiosS”
SO(HIDTT & T°505 FoH0E?

Options :

1. % 3

3
2.8 2

2
3.¢1

1
4. % 4
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Question Number : 119 Question Id : 630680200369 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

What is the name of the waterway in Andhra Pradesh (on Krishna river) found feasible for car go/passenger movement?

SOBSINTTS’ (B9l SED) ST NDAFEEHO SO0 ER0 5e0RS BOSTE0 2D dNE3?
Options :

1. # National waterway 2

20D BOSTS0 2

2. % National waterway 3

220D 2OSr30 3
3. ¥ National waterway 4

2308 BOXITS0 4
4. ® National Waterway 1

20D BOST0 1

Question Number : 120 Question Id : 630680200370 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Construction of Four lane highway in Andhra Pradesh was announced by Minister of Road Transport and Highways Nitin
Gadkari in December 2022. Which two places does it connect?

S0(BINTTS TP BR 3° AT°ETR), FED Barede BN BFPTTEe S0 ABS Kchy8 @025
202265 (053073750 [ & BO (DT EeNHS0E?

Options :

1. #® Vizag and Amaravathi

230 DBAN 9T
2. ¥ Kadapa and Renigunta

6D B0 BedrHoed

3. #¥ Renigunta and Amaravathi

BE3H0L) DB 9T
4. % Kadapa and Amaravathi

88D S0BT8W 9sNTIed

Question Number : 121 Question Id : 630680200462 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Six boys P, Q. R, S, T and U are sitting in a straight row facing north. Only S is sitting between T and Q. R
and Q are sitting at the extreme ends. P is sitting second to the left of T.

Match each of the boys in column I to his neighbour to the immediate right in Column IT and select the
correct answer from the given options.

Column I (Boy) Column II (Neighbour to his immediate right)
i U (W) U
(iiy P (X) S
(iii) S (Y) T
(lv) T (Z) Q

es(DDD 98" 00001 P, Q, R, S T andoin U eddo Duyr 28 0¥ SHes” Eijumaa‘r’g_m. T s0baiw
Qo &0¢sf S argy ST M. R a0d0in Q 50D DHge” SrtnTm) @. T8 Dy doctsd gnaoesﬁ
P St .

SO0 1657 PN 9ery00D 0B BEe HADDD TOMTBE sPo 16 D8TFoyod 0BT QDD

oDEL H0E VJN DATTT JowEol.

5P | ('&‘)EJ"E)GD} sreew | (e9edd 28),0 BEE EDND)
0] U (W) U
(i) E X) S
(iii) S i S
(iv) T (Z) Q
Options :

1. % i-Z, ii- W, iii-Y, iv-X

i-Z, ii- W, 1ii-Y, iv-X

2.9 i-Y, 1i-W, iii-Z, iv-X

i-Y, ii-W, iii-Z, iv-X

3. ® i-X, ii-Y, iii-Z, iv-W

i-X, 1i-Y, iii-Z, iv-W

4. ® i-X, ii-W, iii-Y, iv-Z

1-X, 1i-W, iii-Y, iv-Z

Question Number : 122 Question Id : 630680200463 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In a certain code language, ‘SAMPLE’ is coded as ‘KOVHZN’. How will ‘RESULT’ be coded in that language?

2,8 A0 88 23S, ‘SAMPLE’ Q “KOVHZN’ @ §& BoHd&08. 8 2 ‘RESULT’ e &
BONDBB0E?

Options :
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1. ¥ FOGIVH

FOGIVH
2. % FOGVIH

FOGVIH
3. ¥ FOIGVH

FOIGVH
4. % FOGIHV

FOGIHV

Question Number : 123 Question Id : 630680200464 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Six persons P, Q, R, S, T and U live on different floors of a building. The ground floor is numbered 1, the floor above it is
numbered 2, and so on till the top floor is numbered 6. S lives on the floor just below Q’s floor. T lives on the topmost floor.
R lives on floor number 4. Only P and R live between T’s and Q’s floors. Which of the following is/are correct match(es) as
per the given information?

(1) Floor No. 1 —-U

(i1)Floor No. 2 — P

(ii1)Floor No. 3 - Q

(iv)Floor No. 5 —S

P,Q,R,S, T 08050 U e85 £550e0 2.8 255930657 DA @0 QS0 &. ([To& 55
165 0220 &), T DN &) FFOH 255 0200 @), & DO 2 L0HN SSH 6 S0 aésa)wow Q
T0EY PBE HOT BHSS ) 0BRSS DSDWTY K. T 9550 2> 90BN’ DSDD") &. R 5
8028 46 QVNT®) K. T D850 Q TBNEY, 905N s0E)S P 0O REN 35753 QeI &.

A5 52ES DIPTB0 (DS &3 1808 ¢3S’ DB DOFOE (@) KO DE?

(i) @05 0. 1-U

(i) @05 0.2 - P

(iii) @05 $0.3-Q

(iv) @05 S0.5 - S

Options :

1. % Only (i) is correct

(i) (5D OTIA

2. # Only (ii) and (iii) are correct
(ii) 38O (iii) B OB
3. % Only (i) and (iii) are correct

(1) SO (i) (e DTV

4. ¥ None is correct

DA OB 57

Question Number : 124 Question Id : 630680200465 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it
appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the
statements.
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Statements:

A. All songs are rods.
B. All rods are seas.

C. Some seas are lakes.

Conclusions:

(1)All songs are seas.
(ii)Some lakes are seas.
(ii1)No rods are lakes.

Q550G (DFEISEN BN BT 2R(HST 530G, AV (HDEESEN B0 SOV
FQTOE DY O €59 €D @IDODED Y38 ¢3 FAH0T HBHEF0H0S. Q) STITO IS,
2D IS BT’ DO @0 O (HEELINOD ©90IBNOE AFo0S0R.

&S ew:

A. PN ©Q) T°C.

B. 0°C @), Dadn(&eew.

C. §Q), Qd0(Eren S yew.

ST

L 3P @) QadW(rew.

11 §Q), QG0 )0 Qadw(cren.
11 &) T°CY DB e 5°¢.
Options :

1. % Only conclusion I follows.

BTN0 I 37|53 90BN
2. ¥ Only conclusions II and III follow.

S0 11 B I S5 e DOBT 0N
3. ¥ All conclusions I, IT and I1I follow.

Q) BTN I, 1T OO I €90 EI o0

4. % Only conclusions I and II follow.

ST [ OO0 I 37553 €9OET o0

Question Number : 125 Question Id : 630680200466 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it
appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
A. Some cricketers are gymnasts.
B. All gymnasts are artists.

Conclusions:
I. No artist is a cricketer.
II. Some artists are gymnasts.

Q550G (DFEISEN BN BT 2R(HST t5¢I50G. ADIS (HDEESEN B0 SOV
FQTOE D) O €59 €D @IDODNSD Y38 3¢3 X0 HBHEF0NV0R. Q) STITO IS,
2D IS BT’ DO 0O (HEELIRNOD ©OIBNOE AFON0S0R.
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(DEESen:
A. T0B (8380 22555 vew.
B. 23530%) Qe @0¢%) es8ew.

ST
1. &) &9 18325 s°¢.
IL 0% @80 235357 Qew.

Options :

1. # Only conclusion I follows

B0750 I SF(553 9O N0E
2. ¥ Only conclusion II follows

BTX0 1T S5 @I

3. % Both conclusions I and II follow

073700 [ OB 11 BOT €9 OB 0N

4. ¥ Neither conclusion I nor II follows

ST [ B 11 8 @ DNB0TH

Question Number : 126 Question Id : 630680200467 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In this question, certain statements are followed by three conclusions. Select the conclusion(s) which is/are true based on the
information given in the statements.

Statements:

i. There are six friends, A, B, C, D, E and F, each of a different age.

ii. E is the youngest.

iii. D is younger than only two other friends.

iv. F is elder than A.

v. C is elder than B.

vi. D is elder than F.

Conclusions:

A. A is younger than B.

B. No one is older than C.

C. A is older than D but younger than C.

& 193265, £ (DEEISEN BN Te3Q e NOEAT 03¢ ST QD SDF°ON. @m&@f ENIENEIN
DIPTPB0 SEFSOM OB /TS ST250(€)ed DOTHEOA.

DEESeD:

i.A,B, C,D, E D805 F &F 2,57%.8280 JB 550 000 )e08e> e8EHdd R0 srehnen e .
ii. E @088 D) aFe.

iii. D 3300 T QD Y57t 0T D).

iv. A 80 F Q.

v. B0 C Q.

vi. F $0T D Q.

ST EN:
A. B 30T A Q).
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B. C 80T QT DS SK.
C. D 30T A DRI 5°Q) C 0T D) e CH.

Options :
1. % Only B is true

B 35°(65330 OBXIE
2. % Only C is true

C X530 DB
3. % Only A and B are true

A OB B ST OBSD
4. % Only A and C are true

A 08050 C S7(50 HBSD

Question Number : 127 Question Id : 630680200468 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the alphanumeric-cluster from among the given options that can replace the question mark (?) in the following series.

VNW-12, SKT-16, PHQ-25, MEN-41, ?

31808 3365 109, DD (2) Q 258 TaHrier e98 35085003, AN FDES DODEE OB JoTHEOA.

VNW-12, SKT-16, PHQ-25, MEN-41, ?
Options :
1. ¥ KAK-66

KAK-66
2. % JBL-62

JBL-62
3. ¥ JBK-69

JBK-69
4. ¥ JBK-66

JBK-66

Question Number : 128 Question Id : 630680200469 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
How many such pairs of letters are there in the word LOBOTOMY which have as many letters between them as in the
English alphabetical series? (Count both in the forward and backward directions)

LOBOTOMY & 506" D) 23650 €08 TPen o) 00, a°¢3 $0¢3S e300 98 3s5re> (336 €:5)Q)

95,07 EOLFON? (SVOCH BN HOON & BHE Bockh BISK> B8 00B)
Options :
1. % One

2,8¢3

2. % Two
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3o
3. % Three

W)

4. ¥ None

A Be»

Question Number : 129 Question Id : 630680200470 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Refer to the given number, letter series and answer the question that follows.

(Lefty HSTS39E32SC4B6NSM3W2MO9UT7PSE34RY 7UV (Right)

If all the odd numbers in the above string are deleted, then which would be the 6th letter/number from the left end in the
remaining string?

D)NS QoS, ©F T (FEE 0B S0OOM (BOA (D%)50 DAFETS0 25 50E8.
(DCN)HS5TS539E32SC4B6N5SM3W2MOUT7PSE34RY7UV (B)

D 3BSQ @) 232 How§eN SOA0IDES, WADS (FBS” 8 DSE 0 655 98 S0/H0W DE?
Options :

1. ¥ 4

4
2. %S

3.4C

4. % B

Question Number : 130 Question Id : 630680200471 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Heeba walks 80 m towards the south direction from her home, and then she turns right and walks 45 m. After that, she turns
left and walks 42 m. Then, she turns left and walks 45 m to stop at Point A.

Based on the above information, find out which of the given statements can be the reason/s behind the assertion made below —
Assertion — Heeba is 10m away from her home

Reason A — While facing towards East, Heeba takes a right from Point A and walks 10 m. She takes a left, walks 10m and
stops.

Reason B — While facing towards East, Heeba takes a left from Point A, walks 122m, takes a right and walks 10m and stops.
Reason C — Heeba walks 40m towards east from Point A, takes a left and walks 122m. She then takes a left, walks 30m and
stops.

e €55 R0E3 0A 58 £90 I 80 DEID SED), €530 &R F0BTHZ0 BBA 45 MV SN0, &
SETS, B0 ABDDHE BON 42 m SEONOB. 652, B0 IBDDHE BO 45 S SAD o0 A
3E eSMHSIO. 2 DAFTTB0 eGSO, KIS TS & 7585 F0E 57320/ IO (DEE30IDR0E
EOFSOB — (DB - arer 65 R0¢38 10m S0’ &0

S0 A - S5 DY SO GOGBMT, srer OO0 A 0 ZoAZNSZ0 B8A 10m SN0, &R
D50 )BL 388, 10m SGD) 8B,

SS90 B - 53°¢50) B0 BOA SO, 5725 aPONOES A OB DB FHF0 B8A, 122m SAD, LAIHE
&80 10m SGD SAH0E.
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SPBEI0 C - a2 FPONOET A DO ) BYE0 40m SED), DBVSHE BBA 122m SN0, S
SR D50 B0 €388, 30m SR eHSAO.

Options :

1. % Both B and C are reasons behind the assertion

B 208050 C O (08 I8N sedearen
2. % Only A is the reason behind the assertion

A (530 (D8 JEe 5280

3. % Both A and C are reasons behind the assertion

A OO C BOKY (D5ES InEKie sedearen
4. % Only C is the reason behind the assertion

C 3533 10ES I 52880

Question Number : 131 Question Id : 630680200472 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
‘A & B’ means ‘A is the mother of B’

‘A % B’ means ‘A is the daughter of B’
‘A @ B’ means ‘A is the sister of B’

‘A # B’ means ‘A is the husband of B’
Itis giventhat ‘T& L &R @ K".

If an assertion is made that ‘P is the son-in-law of M’, which of the given reasons, A, B, C, would prove the assertion to be
correct?

Reason A— ‘K% P’, M#T’

Reason B— ‘K#P’, M#T’
ReasonC—-‘M#L’, ‘K @ P’

'A & B' @3 'A @938 B By O e e9do

‘A% B’ @S ‘A @93 B 3308 $0et0 &’ @0 @980
‘D@2 OIT ‘A 9 B B30 FHE e efo

'A# B @S 'A @3 B BwE) 38 el e9do

A8 T&L &R @K’ 0 R SDB0E.

ME P @908 €0 2,8 (DELS TR, VIR SEETen A, B, CS QO OBISD $2sy) TR0E?
OO A-K%P, M#T

OO B-'K#P,' M#T

5800 C-"M#L','K @P'

Options :

1. ¥ Both A and B together prove that P is the son-in-law of M.

A B0 B Bor® D PA M G30E), e9e0¢) @) B023ed) T3ad"ow.
2. % Only A proves that P is the son-in-law of M.

A 3765330 P M TB0E) €9@0¢) €99 8023 D0 .
3. ® Only B proves that P is the son-in-law of M.

B X5°(530 P M G308 @906 @9 K02°eY) 0.
4. % Only C proves that P is the son-in-law of M.

C 55330 P M G308 90 €9 K023°sY) N0,

Question Number : 132 Question Id : 630680200473 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which two signs should be interchanged to make the following equation correct?

[f(12+3)-(4x3)}+-(1—-6)] X5=15

2of ::;b;gcsw:)i HOB[OEEIS o) Totd modmrerdd DODYG0 DT D?

[fC12-+-3) — L4 % 3)} - (1 —6)] X5:=15b
Options :
1. ¥ xand +

X O +
2.% +and —

+ D8 -

3. % xand +

X QB +
4. ¥ +and+

+ 08 +

Question Number : 133 Question Id : 630680200474 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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In a certain code language, 'JOYFUL' is written as ‘89" and ‘CLASS’ is written as “54°. Which of the
tollowing is/are correct match(es) as per the given code language?

WORD CODE
(i) YOUR (W) 42
(i) DONE (X) 79
(iii) FIRM (Y) 29
(iv) PAGE 7y 81

28 D05 EE ey, 'JOYFUL' D '89' r= 2ubdoin 'CLASS' D '54" e9d) grosucio 20006, f‘é}&ﬁﬁ&}éa‘) g&
2% 35 00 S0 aredes” D0 HOTDE(en) D&?

20 g

(i) YOUR | (W) 42

(ii) DONE |[(X) 79
(m) FIRM (Y) 29
(iv) PAGE |(Z) 51

Options :
1. ¥ i-Z, ii-W only

i-Z, ii-W 35530
2. % i-Z,1ii-X, iv-W only

i-Z, iii-X, iv-W o33°(¢5 330
3. % ii-W only

1i-W o30°(5 30
4. % i-X, iv-Y only

X, iv-Y 3005

Question Number : 134 Question Id : 630680200475 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In a class of 50 students, Shikha is at sixth position after the one who topped in the class. 16 people ranked between Shikha
and her sister Shomya. What is Shomya’s rank from the bottom?

50 0B DTIHOS ErBS SEHBS’, SBHBS’ HT IS AODD T8 ST ceh Fgr 38 TS0 &od.
25 S0BO50 eI B SFs0S 05’ 16 800G DTEEN &™) 3. BN OB PS5 T°S08 DOehH?
Options :

1. % 25

25
2.9 27

27
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3.% 29

29
4. % 24

24
Question Number : 135 Question Id : 630680200476 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Select the correct mathematical sign to replace the * sign and balance the given equation.

2% 144+24+78-30%3=0
2 98 238 TOHEAE DB Kedeh DTFYLQ), DOTHER BeISDAD DNESETY, DA 0 TOHOA.

2x144+24+78-30*3=0
Options :
1. % +

Question Number : 136 Question Id : 630680200587 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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A survey was conducted in three different places P, Q and R regarding the number of vehicles in 5

different societies in each of these places.
Following are the data collected.
PlaceP:7,2,6,3,2

Place Q: 10,9,8,9,9

PlaceR: 8,4,2,6,7

Identify the place(s) where collected data have the same mean, median and mode.

DeS° 2.8) S 5 DD Tt TrarTre Dowgth Doeodod P, Q, a0doin R &d ured DD

romre” DB DOLPoTT .

DEBOSICD Ge S 308 DEOTF ol

arotio P:7,2,6,3,2

arodo Q: 10,9, 8,9,9

arocso R: 8, 4,2,6,7

DEBoIED EereS® 2,8 DD, S0EFAIGOL SO0 eXFOTE 8O &) arogio(e)d Mdociod.

Options :
Pand R

| % PaodoivR

Pand Q

5 % PanBoinQ

Q
3.¢ Q
R

4. % R
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Question Number : 137 Question Id : 630680200588 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The below pie chart shows the expenditure on items in percentage. The paper and printing costs are

21,500 and Z1,000, respectively.

Based on the above pie graph, match the following items as per their cost.

B Paper Cost

M Printing' Cost

M Binding Cost
Transportation Cost

M Promotion Cost

Column A Column B
X)) Total expenditure 1) 2500
Y’) Promotion cost 2) 1,000
Z) Binding cost 3) 5.000
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OMDD P TG DWDUD fO5PRY ?@“@Q‘ QIEDE00. 5°HG0 SOCEID DDEEF PMNED ot 21,500

«0doin T1,000.

M Paper Cost

M Printing' Cost

W Binding Cost
Transportation Cost

m Promotion Cost

Paper Cost = s*0%0 50, Printing Cost = aoogies sd§0o - Binding Cost = Boctof D500

Transportation = 6aregs>, Promotion Cost = HEG &joio

DD QIEED P TP 00T, S $00 DDV T8 G0 V500 VOOl

o) A oo B

X) 20080 d5oo 1) T500

Y) paro djoo 2) 1,000

Z) Boctofi dgoo | 3) ¥5.000

Options :

1.

2.

3.

4.

X-1;Y-3; 22
x Xl Y3igis
X-3;Y-1; Z-2
v X3 Z2
X-2:Y-1; Z-3
% EEEETS
X-1;Y-2;7-3

« XBY2 73
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Question Number : 138 Question Id : 630680200589 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The following bar graph shows the number of students (in multiples of 50) admitted in various streams.

600
500 4

400 -

Number of

students o

200 1

100

Commerce Arts Science Law Management

Streams

Based on the above bar graph, match the following items.

Column A Column B
P) Arts + Commerce students 1)45.71%
Q) Management — Law students 2)11.43%
R) Science students 3)25.71%

Note: The percentages expressed are correct to two decimal places.
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& 308 e76 D DDE Derrred” B30 DEFFEHO D00 (50 edereS®) cryesoldd .

600

500

400

Number of
students

[

00— —

200

100 T— F—

Commerce Arts Science Law Management

Streams

Number of students = Da“?gg_m R::oa::}g , Streams = DaIeL) -

Commerce = 5°a08y (aneﬁae,éo) , Arts= HQ“‘) , Science =20y Law = RT§00 TR0

Management = Q0Q&006)

DD QORI eP6 PO 00T, G 08 0TV :aaﬁ"%oci.

sPean A s B

P) HQA + sy dorgien 1)45.71%

Q) A& - T TR DD 2)11.43%

R} aﬁ:l- Dmﬁgm 3) 25.71%

(1e0E - ¥ 528 T Tot BSOS Fores OB

Options :
P-1; Q-2; R-3

| ¢ P-1iQ-2:R-3

P30 B

5w P-31Q-2iR-1

P-2; Q-3; R-1

3 & P-2:Q-3;R-1
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P-2; Q-1; R-3

4 % P-2QLR3

Question Number : 139 Question Id : 630680200590 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Study the below graph of a frequency polygon and state the class with the highest frequency.

W

Frequency . |

3,00 L

T T
1] [11] . i

Classes

£ faasmcié- a‘)":)a‘;)_‘)a’:-é £ 8, o) RICIFOT0 wobod aododw RIBIOS %"é;aiz)x}éo

SHOD B0 3)5'&55)0&, :

o

Frequency 3

Classes

Frequency = 2 :0ag0

Classes = edrieioen
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Options :
0-10
. # 0-10
10-20
7 % 10-20
20-30
3 % 20-30
30-40
4.« 30-40

Question Number : 140 Question Id : 630680200591 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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The following graph shows the number of men and women participating in various sports. Find the

percentage of women who participated in tennis by taking into consideration the participants of all the
games.

B Men B'Women

16
14
Number of 12
participants 1q
6
4
2
0

Cricket Basketball Badminton Tennis

Sports

s 300 T DDG 3S° ang:a THEDED B0 en R0D[RD SPEDE0. Y 5888 o?r“%‘i“;ﬁa"ﬂzj
DO’ SHrnE D eax)liaesﬁ an%s“.::l QAR FEPDY SRfFd0E |

20 B Men BEWomen

18
16
14
Number of 12
participants 1o
8

2 N & @

Cricket Basketball Badminton Tennis
Sports

Number of participants = &r€°5a°8 Doay, Sports = Scen, Men = )mapen, Women =

2
£

cricket = 58¢5, Basketball = f.}ﬂ?azjeﬂwei Badminton = w}gd&o&)& Tennis = 93.‘3);,‘5

Options :
11.3%

| % 11.3%
25.5%

) % 25.5%
10.64%

3« 10.64%
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20.1%

4 % 20.1%

Question Number : 141 Question Id : 630680200592 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

A table is given followed by two statements labelled Assertion and Reason. Study the table, Assertion
and Reason, and select the correct option with respect to the data given in them.

The mean of the following distribution is 2.4.

Variable 1 2 3 4 5

Frequency |5 a 4 3 1

Assertion: If the mean of the above distribution is 2.4, the value of *a’ is 7.

Lfx

Reason:Mean = =—
xf

DL 20003 FCEI0 D DB DLICR Totd D‘“?SS“?S'E'_J@G 2.8 DO QaeICod. DES, DS JBOIL

SROETOD G500 30 aﬂeﬁg‘iﬁ -’a.;ﬁsmcia DT e9:020005) VDD Doe)0HE JodsEdn JocwEod.

& 300 Dodes Boog), e 2.4

Dbaienes 1

[
Laa
e
LA

JrdEDN0 5 a 4 3 1

DBOD 1 D DoDES L), DD 2.4 evond, 'a’ Dewad 7 .

ifx
if

oSedrao tMean =

Mean — &t

Options :
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Both Assertion and Reason are true, and Reason is the correct
explanation for Assertion.

2565 B0 BP0 Botil D0M®, a0 NELHDL SPG0 A0
1.« 0.

Both Assertion and Reason are false, and Reason is not the correct

explanation for Assertion.

256 BB 5700 Cotlre e:é?a:', 0By PSS SPUteo D0
7 # &sI0E SR

Assertion is true, but Reason is false.

2ED DODD, S°N) S°G0 By

Both Assertion and Reason are false.

4% 25607 0D05L BRoEs0 Toldr ejfi:ﬁ

Question Number : 142 Question Id : 630680200593 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Find the mean deviation of the numbers 5. 6. 7, 8 and 9 from the mean.

200 Mo 5, 6, 7, 8 aboin 9 moé‘%“ FeTa:AY! 3}630&?.3}&' S0 S0l .

Options :

. % 3

)
s

Question Number : 143 Question Id : 630680200594 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

If lower quartile = 9 and upper quartile = 17, find the semi-inter-
quartile range.

B ©eTro0 = 9 SBAID I weugroo = 17 eond, SraE
-E0EHOB0 ~SEUTE0F0 CI0L), DBAD ST Dol

Options :
4

1.v 4

10
3 % 10
12
4 % 12

Question Number : 144 Question Id : 630680200595 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
For a set of 25 observations. the variance is 7. If each observation is

multiplied with 3, then the value of the new variance is:

25 DIV DAS, DOODLDY 7. VA PDOIVH 3 DD DIy By
Ei'b&ctuéﬂ [IbTVR
Options :

21
1% 21
40
o # 40
63

3.¢ 063
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70

4. % 70

Question Number : 145 Question Id : 630680200596 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

A statement is given followed by two statements labelled Assertion and Reason. Read the data given in
the statement, Assertion and Reason, and select the correct option with respect to the data given in them

The mean of a distribution using the step deviation method is 49.6, and the assumed mean is 45. The
class size of each class is 10 and })ft = 23, wheret = x4

class size

Assertion: The total number of observations in distribution is 50.

Reason: 49.6 = 45 +§ ¥ 10 =n =50

28 aRfS] QORI STP(S DS DI SPOE0 R ToD RSP QORGE0N. aPfs], 56D
SOB0ID 50006 @D EePD SEH0E SO0 THS” DD EEPLD 0810H0L) DTD JoDE
Joc&ol.

B8 DRI ?.’.)%’}@53 EDCITHODDRN D »ODEI a3, Wi 49.6, DodoID E8oTP00)R I 45, Db

G Telalt] CB.DSET e8001ed 2030 10 0Bt

x—4A

Eft = 23, where t :cm.
DB : Do Qo DBIVBO Do 50.
50690 : 49.6 = 45+ = X 10 = n = 50
Options :
Both Assertion and Reason are true, and Reason is the correct

explanation for the Assertion.

DED SBOIL SEGE0 Bodir DfO®, AB0IL HELDLD S°GR0 DTD
1.« D063,

Both Assertion and Reason are false, and Reason is not the correct

explanation for Assertion.

28832 J0B0BL SeCreo Dol ej‘éjs, 20B0iL  PELIRS) SPOER0 TR
7 % 0 SEC.
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Assertion is true, but Reason is false.

2ERD DODB, 57N U0 IR

Both Assertion and Reason are false.

4% 28635 DBO0Y SPOMo Doy E'j?a;)

Question Number : 146 Question Id : 630680200597 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Find the harmonic mean of the following distribution of data.

Classes Frequency
2-6 4

6-10 16

10-14 12

& 808 DT DOWE B0g), Broaneie (HM)R Soffaded .

alolala b SV

D50

2-6

6-10

16

10-14

12

Options :

4.75
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125

4.\:;.’ T:25

Question Number : 147 Question Id : 630680200598 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Read the Assertion and Reason and select the correct option with

respect to the data given in them.

Assertion: If Mode — Mean = 15, then Median — Mean = 10

Reason: By empirical relationship, Mode = 2Median — 3Mean

D50 SOOI 50" ADERICD DTV BE[ODDO B e’

RO DDTVD IADDB0L) VTR L0oe0BE JonEM ool

RELD: LETVFE0 - DD = 15 esondd, a)cjisr‘i@m - Zaieyy = 10

Se06308 90T RI0RI0G0 o, ENRTOWE0 = 2 mc:_a_sﬁe:'aan -3

ESlgl:hS]
Options :

1. ®

3. %

4.

Both Assertion and Reason are true, and Reason is the correct

explanation for Assertion.

25035 DOBOIL SPEEI0 Dotir DTN, SDOOID NELHL T°0L0 DO
2Jad06s.

Both Assertion and Reason are false, and Reason is not the correct
explanation for Assertion.

2860 HOBOID F°GLe0 Toir By, BOID PEWRL S°Ges0 JD
sJaa0cs TR,

Assertion is true, but Reason is false.

2D DOHB, T°R) S°6Le0 B2y

Both Assertion and Reason are false.

22586320 0doiw sPUen Godire 93‘3.3;)

77/81



4/4/23, 4:04 PM

Question Number : 148 Question Id : 630680200599 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Read the Assertion and Reason and select the correct option with

respect to the data given in them.

Assertion: If 4 is included in the collection of the first four whole

numbers, the median of the set is 2.

Reason: For even number of data. median is the middlemost value.

DD B0 TOFFY” QNI DIT-VRD IGSHOHVO BV TAF’
QNEIED VDTV RADB0L) VT 0B JoDER ool

DELD: DA TR a’g_)ﬁg ?’aoz_uét) 2E0ee5° 40 63&:3;6@@, 2803
031}5& mtﬁﬁﬁ@m} 2 eagnesnodd |

Sedee0 1 Cered” b 02 &0, 0GB 9D o SVAlrS

o206,
Options :
Both Assertion and Reason are true, and Reason is the correct
explanation for Assertion.

28D DOOIY SPERo Dot WD, aB0ID RSN S°EL0 V0D
. % 203,

Both Assertion and Reason are false, and Reason is not the correct

explanation for Assertion.

258 QOB0SL PO Totlr ej‘éjb, w0003 55 SO0 WO
7. % «eI0LB SR,

Assertion is true, but Reason is false.

3@ DBOD DTG, 57D S°6E0 BN,

Both Assertion and Reason are false.

4% 28623 JdBodw SeOrso Doy 9333;)

Question Number : 149 Question Id : 630680200600 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Find the mode of the below data (correct to two decimal places).

Classes Frequency
0.5-5.5 6
5.5-10.5 11
10.5-15.5 16
15.5-20.5 32
20.5-25.5 24

B PDEED DHT"® CIE), LITVFE ST ol (GocHr cwrod .g‘m?nve‘o RO .

Sdrisoen

D EDD0

0.5-5.5

5.5-10.5

10.5-15.5

Options :
16.28

| % 16.28
17.58
, ®% 17.58
18.83
3 18.83
19.27

4 % 1927
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Question Number : 150 Question Id : 630680200601 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Find the weighted average score for the below data.

Activity | Weightage | Marks
Dancing | 4 30
Singing | 2 10
Knitting | 3 40
Cooking | 1 20

105 QEIERD DDT"L OIVE), PG DD :3"6(&).;'1) S0 S0l .

svdégmm;

23 0el)

mm&m

:)‘;,@50

30

a0

]

10

e&:@gw

40

a0t

Options :

11
% 11
16

% 16
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28

4.« 28
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